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vz;fs; 
 

 

 

 
juk; - 11 khztu;fspd; fzpj milTkl;lj;ij 

mjpfupg;gjw;F mj;jpatrpa fw;wy; vz;zf;fUf;fis 
mbg;gilahff; nfhz;L gupfhuf; fw;gpj;jYf;fhfj; 

jahupf;fg;gl;l fw;gpj;jy; gbKiwfSk; gapw;rpfSk; mlq;fpa 
nkhbA+yhFk;. 

 

 

 
 

Njrpa fy;tp epWtfj;jpd; gq;Fgw;wYld; fy;tp mikr;rpd; fzpjf; 
fpisapd; jahupg;ghFk;. 
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ghlk;  - 1 

juk;    : 10 

jtiz : I 

ghl cs;slf;fk; : tu;f;f%yk;(Kjyhk; mz;zsthf;fk; kl;Lk;)  

fw;ww; NgWfs; : 

 mLj;Js;s ,U epiwtu;f;f vz;fSf;fpilapy; mike;Js;s 100 ,Yk; rpwpa 
epiwtu;f;fky;yhj vz;nzhd;wpd; tu;f;f%yj;jpw;F xU gUk;gbg; ngWkhdj;ijg; 
ngWthu;. 

 100 ,Yk; rpwpa epiwtu;f;fky;yhj KOntz;nzhd;wpd; tu;f;f%yj;jpd; Kjyhk; 
mz;zsthf;fj;ijf; fhz;ghu;. 

 epiwtu;ff;fky;yhj KOntz;nzhd;wpd; tu;f;f%yk; xU jrkvz; vd;gij Vw;Wf; 
nfhs;thu;. 
 

Nkw;Fwpg;gpl;l fw;ww;NgWfis miltjw;F fw;wy; fw;gpj;jy; nraw;ghl;bd;NghJ ftdk; 
nrYj;j Ntz;ba Kf;fpa tplaq;fs;. 

 xU jrkjhdk; mlq;fpa ,U vz;fspd; ngUf;fk;. 
 KOntz;nzhd;wpypUe;J ,U jrkjhdq;fslq;fpa vz;nzhd;iwf; fopj;jYk; ,U 

jrkjhdq;fslq;fpa vz;nzhd;wpypUe;J KOntz;nzhd;iwf; fopj;jYk;. 
 ,U jrkjhdq;fslq;fpa ,U vz;fspypUe;J tu;f;f%yk; fhzg;gl Ntz;ba 

vz;zpw;Ff; fpl;ba ngWkhdj;ijf; fhzy;. 

 

fw;wy; fw;gpj;jy; nraw;ghl;bd; tpUj;jpf;F Nkw;nfhs;sj;jf;f gbKiwfs;. 

1 ,ypUe;J 10 tiuahd KOntz;fspd; tu;f;fq;fs; njhlu;ghd tpsf;fk;. 

1 X 1  = 1
2
  = 1 6 X 6  = 6

2 = 36                x x x    =  x
2
 

2 X 2  = 2
2
  = 4 7 X 7  =7

2
  = 49 

3 X 3  = 3
2
  = 9 8 X 8  = 8

2
  = 64 

4 X 4  = 4
2
  =16 9 X 9   = 9

2
  =81 

5 X 5  = 5
2
  = 25 10 X 10  = 10

2   = 100 

epiwtu;f;f vz;fspd; tu;f;f%yKk; FwpaPLk;. 

1 ,d; tu;f;f%yk; =   √    =    1 36 ,d; tu;f;f%yk;=   √   =  6 

4 ,d; tu;f;f%yk; =   √   =    2 49 ,d; tu;f;f%yk;=   √    =  7 

9 ,d; tu;f;f%yk; =   √   =    3 64 ,d; tu;f;f%yk;=   √    =  8 

16 ,d; tu;f;f%yk;=   √    =  4 81 ,d; tu;f;f%yk;=   √    =  9 

25 ,d; tu;f;f%yk;=   √   =  5 100 ,d; tu;f;f%yk;=   √   =  10 

                      x
2
 ,d; tu;f;f%yk; =   √   = x   
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epiwtu;f;f vz;fis vz;Nfhnlhd;wpy; fhl;ly;(mLj;Js;s epiwtu;f;f vz;fis 
,dq;fhz;gjw;F)  

 

      1   4         9         16          25              36                        49                          64                           81                               100 

 

 jug;gl;l vz;nzhd;wpw;F fpl;ba rpwpa epiwtu;f;f vz;izAk; ngupa fpl;ba 
epiwtu;f;f vz;izAk; ,dq;fhzy;.  

                                                                                                                                               

 

 

 epiwtu;f;f vz;fSk; mtw;wpd; tu;f;f%yq;fisAk; xg;gply;. 
   

       1   4         9         16          25              36                             49                     64                          81                            100 

 

 

        

      

NkYs;s xg;gPl;bd;gb 

1 ,w;Fk; 4 ,w;Fk; ,ilg;gl;l vz;nzhd;wpd; tu;f;f%yk; 1,w;Fk; 2 ,w;Fk; ,ilg;gl;l xU 
vz; vd;gJ (mjhtJ 1.1, 1.2, 1.3, 1.4, 1.5, 1.6, 1.7, 1.8, 1.9, Mfpa vz;fSs; xd;nwd;gJ) 

4 ,w;Fk; 9 ,w;Fk; ,ilg;gl;l vz;nzhd;wpd; tu;f;f%yk; 2 ,w;Fk; 3 ,w;Fk; ,ilg;gl;l xU 
vz; vd;gJ (mjhtJ 2.1, 2.2, 2.3, 2.4, 2.5, 2.6, 2.7, 2.8, 2.9, Mfpa vz;fSs; xd;nwd;gJ) 

9 ,w;Fk; 16 ,w;Fk; ,ilg;gl;l vz;nzhd;wpd; tu;f;f%yk; 3 ,w;Fk; 4 ,w;Fk; ,ilg;gl;l 
xU vz; vd;gJ (mjhtJ 3.1, 3.2, 3.3, 3.4, 3.5, 3.6, 3.7, 3.8, 3.9, Mfpa vz;fSs; xd;nwd;gJ)  

 16 ,w;Fk; 25 ,w;Fk; ,ilg;gl;l vz;nzhd;wpd; tu;f;f%yk; 4 ,w;Fk; 5 ,w;Fk; ,ilg;gl;l 
xU vz; vd;gJ (mjhtJ 4.1, 4.2, 4.3, 4.4, 4.5, 4.6, 4.7, 4.8, 4.9, Mfpa vz;fSs; xd;nwd;gJ)  

25 ,w;Fk; 36 ,w;Fk; ,ilg;gl;l vz;nzhd;wpd; tu;f;f%yk; 5 ,w;Fk; 6 ,w;Fk; ,ilg;gl;l 
xU vz; vd;gJ (mjhtJ 5.1, 5.2, 5.3, 5.4, 5.5, 5.6, 5.7, 5.8, 5.9, Mfpa vz;fSs; xd;nwd;gJ)  

36 ,w;Fk; 49 ,w;Fk; ,ilg;gl;l vz;nzhd;wpd; tu;f;f%yk; 6 ,w;Fk; 7 ,w;Fk; ,ilg;gl;l 
xU vz; vd;gJ (mjhtJ 6.1, 6.2, 6.3, 6.4, 6.5, 6.6, 6.7, 6.8, 6.9, Mfpa vz;fSs; xd;nwd;gJ) 

49 ,w;Fk; 64 ,w;Fk; ,ilg;gl;l vz;nzhd;wpd; tu;f;f%yk; 7 ,w;Fk; 8 ,w;Fk; ,ilg;gl;l 
xU vz; vd;gJ (mjhtJ 7.1, 7.2, 7.3, 7.4, 7.5, 7.6, 7.7, 7.8, 7.9, Mfpa vz;fSs; xd;nwd;gJ) 

64 ,w;Fk; 81 ,w;Fk; ,ilg;gl;l vz;nzhd;wpd; tu;f;f%yk; 8 ,w;Fk; 9 ,w;Fk; ,ilg;gl;l 
xU vz; vd;gJ (mjhtJ 8.1, 8.2, 8.3, 8.4, 8.5, 8.6, 8.7, 8.8, 8.9, Mfpa vz;fSs; xd;nwd;gJ) 

81 ,w;Fk; 100 ,w;Fk; ,ilg;gl;l vz;nzhd;wpd; tu;f;f%yk; 9 ,w;Fk; 10 ,w;Fk; ,ilg;gl;l 
xU vz; vd;gJ (mjhtJ 9.1, 9.2, 9.3, 9.4, 9.5, 9.6, 9.7, 9.8, 9.9, Mfpa vz;fSs; xd;nwd;gJ)  

1 8 9 106 72 3 4 5

7 18 52 78 90 

64 81 10016 25 36 491 4 9 
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xU vz; jug;gLk;NghJ mjw;F Kd;dhYk; gpd;dhYk; fhzg;gLk; ,U epiwtu;f;f 
vz;fisAk; ,dq;fhz;gjd; %yk; vz;zpd; mikitAk; tu;f;f%yj;ijAk; mDkhdpj;J 
,dq;fhzy;. 
 

cjhuzk; :- 1 

18 ,d; tu;f;f%yk; fhzy; 

 

                                              16             18                20                    23              25 

 

                                                           

                                                   4     4·3    4·5   4·7    5 

mjd;gb 18 vd;gJ 4.3 my;yJ 4.4 ,w;Ff; fpl;baJ vd;gij mDkhdpj;J mtw;iw 
tu;f;fpj;J 18 ,w;Ff; Fiwe;jJk; $baJkhd fpl;ba ,U vz;fisAk; ,dq;fhzy;. 

4.1  X 4.1  =  16.81,           4.2  X 4.2  =  17.64 ,   4.3  X 4.3 =18.49   ,        4.4  X 4.4  =  19.36,  

       

mjd;gb       18 – 17.64  = 0.36 

                   18.49 – 18  =  0.49 Mifahy; 

NkYs;stw;Ws; Fiwe;j tpj;jpahrk; 0.36 Mifahy; 18 ,w;F kpff; fpl;ba vz; 4.2 vd 
,dq;fz;L 4.2 I tpilahf vOJjy;.  
 

cjhuzk; :2 

78 jug;gl;Ls;sjhff; fUJNthk;. 

78 vd;gJ epiwtu;f;f vz;fshfpa 64 ,w;Fk; 81 ,w;Fk; ,ilg;gl;ljhFk;. 

 

                         64             68              72                     78          81 

 

 
 

                                                8    8.2    8.5   8.7    9                  
 mjd;gb 78 vd;gJ 8.8 my;yJ 8.9 ,w;Ff; fpl;baJ vd;gij mDkhdpj;J mtw;iw 
tu;f;fpg;gjd; %yk; 78 ,w;Ff; $ba> Fiwe;j fpl;ba vz;izf; fhzNtz;Lk;.                                                                                

                          8.7 X 8.7  =  75.69 

 8.8 X 8.8  =  77.44 

                        8.9 X 8.9  =  79.21 

mjd;gb       78 – 77.44  =  0.56 

                   79.21 – 78  =  1.21 Mifahy;  
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NkYs;stw;Ws; 0.56 Fiwe;j tpj;jpahrkhjyhy; 78 ,d; tu;f;f%yj;jpw;F kpff; fpl;ba 
ngWkhdk; 8.8 I ,dq;fz;L tpilahf 8.8 I vOjy;. 

gapw;rp 

gpd;tUtdtw;Ws; rupahd tpilapd; fPo; NfhbLf. 

1. gpd;tUtdtw;Ws; 34 ,w;Ff; fpl;ba epiwtu;f;f vz; ahJ?                                                                                                                                                                                                                                          
I. 35                                                                                                                                  

II. 33                                                                                                                                

III. 37                                                                                                                                                                  

IV. 36    
2. gpd;tUtdtw;Ws; 17 ve;nje;j epiwtu;f;f vz;fSf;fpilapy; mike;Js;sJ? 

I. 16> 18 

II. 20> 25 
III. 16> 25 

IV. 9> 16 

3. fPOs;s njhlu;GfSs; √   ,w;fhd rupahd njhlu;G ahJ? 

I. 7   √     8 

II. 8   √    9 

III. 6   √     7 

IV. 5   √    6 

4. fPOs;s njhlu;GfSs; √   ,w;fhd rupahd njhlu;G ahJ? 

I. 1   √    2 

II.  3   √    4 

III. 4  √     5 

IV. 5   √    6 

  
5. gpd;tUtdtw;Ws; 13 ,w;F kpff; fpl;ba ngWkhdj;ijf; fhz;f.                     

          ( i )   2.6    X 2.6           ( ii )   3.6  X 3.6         ( iii )   1.6    X 1.6        ( iv )   1.3   X 1.3 

 
6. gpd;tUtdtw;Ws; 26 ,w;F kpff; fpl;ba ngWkhdj;ijf; fhz;f.                     

           ( i )   2.6    X 2.6              ( ii )   5.1    X 5.1     ( iii )   4.9    X 4.9     ( iv )   6.2   X 6.2 

7. gpd;tUtdtw;Ws; 30 ,w;F kpff; fpl;ba ngWkhdj;ijf; fhz;f. 
 
  ( i )   2.9    X 2.9              ( ii )   3.1    X 3.1     ( iii )   5.5    X 5.5     ( iv )   4.8   X 4.8 

 
8. gpd;tUtdtw;Ws; 48 ,w;F kpff; fpl;ba ngWkhdj;ijf; fhz;f. 

 

           ( i )   4.8    X 4.8              ( ii )   6.9    X 6.9       ( iii )    7.1    X 7.1         ( iv )   5.8   X 5.8 

 
9. gpd;tUtdtw;Ws; 13 ,d; tu;f;f%yj;jpd; Kjyhk; mz;zsthf;fg; ngWkhdk; ahJ? 

 

             ( i )   2.6                  ( ii )   3.6          ( iii )   1.6        ( iv )   1.3     
10. gpd;tUtdtw;Ws; 26 ,d; tu;f;f%yj;jpd; Kjyhk; mz;zsthf;fg; ngWkhdk; ahJ?  

 

( i )   2.6                  ( ii )   5.1          ( iii )   4.9       ( iv )     6.2     
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11. gpd;tUtdtw;Ws; √    ,d; tu;f;f%yj;jpd; Kjyhk; mz;zsthf;fg; ngWkhdk; ahJ?  
 

( i )   2.9                  ( ii )   2.1            ( iii )   5.5        ( iv )     4.8    

 

12. gpd;tUtdtw;Ws; √   ,d; tu;f;f%yj;jpd; Kjyhk; mz;zsthf;fg; ngWkhdk; ahJ?  
           ( i )   4.8                  ( ii )   6.9              ( iii )    7.1       ( iv )    5.8    

 
13. gpd;tUtdtw;Ws; 7 ,w;F kpff; fpl;ba ngWkhdk; vJ?  

                    ( i )   2.5  X  2.5       ( ii )   2.7  X  2.7      ( iii )    2.8 X  2.8        ( iv )    2.6  X  2.6 

 

14. gpd;tUtdtw;Ws; 2 ,w;F kpff; fpl;ba ngWkhdk; vJ?  

                   ( i )   1.3  X  1.3         ( ii )   1.4  X  1.4     ( iii )   1.5  X  1.5      ( iv )    1.6  X  1.6 

 

15.   gpd;tUtdtw;Ws; 54 ,w;F kpff; fpl;ba ngWkhdk; vJ?  

                    ( i )   7.4   X  7.4       ( ii )   7.5   X  7.5     ( iii )   7.2   X  7.2     ( iv )    7.3   X 7.3 

 

16. gpd;tUtdtw;Ws; 65 ,w;F kpff; fpl;ba ngWkhdk; vJ? 
 
                    ( i )   8.4   X 8.4        ( ii )   8.3   X  8.3     ( iii )   8.2  X  8.2     ( iv )    8.1  X  8.1 

 
17. gpd;tUtdtw;Ws; 66 ,w;F kpff; fpl;ba ngWkhdk; vJ?  

                    ( i )   8.4  X  8.4              ( ii )     8.3  X  8.3     ( iii )   8.2  X  8.2     ( iv )     8.1 X  8.1 

 

18.  gpd;tUtdtw;Ws; 67 ,w;F kpff; fpl;ba ngWkhdk; vJ?  

                    ( i )  8.4   X  8.4        ( ii )    8.3  X  8.3     ( iii )   8.2  X  8.2     ( iv )    8.1  X  8.1 

 

19. gpd;tUk; tpilfSs; √  ,d; tu;f;f%yj;jpd; Kjyhk; mz;zsthf;fg; ngWkhdk; ahJ?  

                    ( i )    1.3            ( ii )     1.4                  ( iii )    1.5                ( iv )    1.6    

20. gpd;tUk; tpilfSs; √   ,d; tu;f;f%yj;jpd; Kjyhk; mz;zsthf;fg; ngWkhdk; 
ahJ?  

                    ( i )   7.4                ( ii )     7.5                ( iii )    7.2             ( iv )     7.3   

21.  gpd;tUk; tpilfSs; √   ,d; tu;f;f%yj;jpd; Kjyhk; mz;zsthf;fg; ngWkhdk; 
ahJ? 

                    ( i )   8.4               ( ii )      8.3               ( iii )     8.2              ( iv )     8.1    

22. gpd;tUk; tpilfSs; √   ,d; tu;f;f%yj;jpd; Kjyhk; mz;zsthf;fg; ngWkhdk; 
ahJ? 

                    ( i )   8.4                  ( ii )     8.3             ( iii )     8.2              ( iv )     8.1    
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2 - 3 epkplq;fspy; jPu;f;f.  
 

1. √   ,d; Kjyhk; mz;zsthf;fj;ijf; fhz;f. 

 

2. √   ,d; Kjyhk; mz;zsthf;fj;ijf; fhz;f.  

 

 

3. √    ,d; Kjyhk; mz;zsthf;fj;ijf; fhz;f.  

 

 

4. √    ,d; Kjyhk; mz;zsthf;fj;ijf; fhz;f.  

 

5. √   ,d; ngWkhdj;ij Kjyhk; mz;zsthf;fj;jpw;Ff; fhz;f. 

 

 

6. √    ,d; mz;zsthf;fj;ij Kjyhk; jrkjhdj;jpw;Ff; fhz;f. 

 

7. √    ,d; mz;zsthf;fj;ij Kjyhk; jrkjhdj;jpw;Ff; fhz;f.  

 
 

8. √    ,d; ngWkhdk; ve;j ,U epiwtu;f;f vz;fSf;fpilapy; mike;Js;sJ? 

 

 

9. √    ,d; ngWkhdk; ve;j ,U epiwtu;f;f vz;fSf;fpilapy; mike;Js;sJ?  

 

 

10. √    ,d; ngWkhdk; ve;j ,U epiwtu;f;f vz;fSf;fpilapy; mike;Js;sJ?  
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11. √    ,d; ngWkhdk; ve;j ,U epiwtu;f;f vz;fSf;fpilapy; mike;Js;sJ?  

 

 

12. √    ,d; ngWkhdk; njhlu;ghf gpd;tUtdtw;Ws; rupahd tpilapd; fPo; NfhbLf. 

(i) 5   √      6 (ii)          3   √      4 

(iii)  3   √      4 (iv)          5   √      6 

 

13. √    ,d; ngWkhdk; njhlu;ghf gpd;tUtdtw;Ws; rupahd tpilapd; fPo; NfhbLf. 

i)   7   √      8                                               (ii)          6   √      7 

ii)  8   √      9                                                (iv)          9   √      10 

 

14.  ml;ltizapy; cs;s juTfisf; nfhz;L  √    ,d; Kjyhk; mz;zsthf;fj;ijf; 

fhz;f. 

 

 

 

15.  √    ,d; ngWkhdj;ij gpd;tUk; ml;ltizapYs;s juTfisf; nfhz;L fhz;f. 

 

 

 

 

 

 

 

x 5.3 5.4 5.5 5.6 

x
2
 28.09 29.16 30.25 31.36 

 

x 6.4 6.5 6.6 6.7 

x
2
 40.96 42.25 43.56 44.89 
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ghlk; - 02 

juk;  :  10                                                                                                          jtiz :   3 

ghl cs;slf;fk; :   $l;ly; tpUj;jp (2) 

fw;ww; NgWfs; : 

 mLj;JtUk; ,U cWg;GfSf;fpilapyhd tpj;jpahrk; xU khwpypahf mikAk; 
vz;njhlup $l;ly; tpUj;jp vd ,dq;fhz;ghu;. 
 

 $l;ly; tpUj;jp njhlu;ghd fiyr;nrhw;fis ,dq;fhz;ghu;. 
 

              vDk; #j;jpuj;ijg; gad;gLj;jp     vd;gd epiwntz;fshfTs;s 
$l;ly; tpUj;jp xd;wpd; n MtJ cWg;igf; fhz;ghu;. 

 

     epiwntz;fshfTs;s $l;ly; tpUj;jp xd;wpd;   MtJ cWg;G      jug;gLkplj;J 

  ,d; ngWkhdj;ij #j;jpuj;ijg; gad;gLj;jpf; fhz;ghu;.  
 

Nkw;$wpa fw;ww;NgWfisg; ngw;Wf; nfhs;tjw;F fw;wy; fw;gpj;jy; nraw;ghl;bd; NghJ 
ftdQ; nrYj;j Ntz;ba tpN\l tplaq;fs; 

 ,U epiwntz;fspd; $l;ly;> fopj;jy; jpwd;;.  

 ,U epiwntz;fspd; ngUf;fy;> tFj;jy; jpwd;;.  

       vd;gd %d;W epiwntz;fshf        tbtpyhd vspa rkd;ghLfisj; 
jPu;f;Fk; Mw;wy;. 

        vDk; RUf;fy; gbKiw njhlu;ghd njspT. 
 njupahf; fzpaq;fslq;fpa #j;jpunkhd;wpy; xU njupahf;fzpak; jtpu;e;j 

Vidatw;wpd; ngWkhdq;fs; jug;gLkplj;J mtw;iwg; gpujpapLtjd; %yk; jug;glhj 
fzpaj;jpd; ngWkhdj;ijf; fhZk; Mw;wy;. 

 vz; Nfhynkhd;wpd; KjYWg;G> mLj;JtUk; ,U cWg;GfSf;fpilapyhd tpj;jpahrk; 
vd;gtw;iw ,dq;fhzy;. 

 
mLj;JtUk; ,U cWg;GfSf;fpilapyhd tpj;jpahrk; khwpypahFk; vz;njhlupfs; $l;ly; 
tpUj;jpfs; vdg;gLk;. 

  

cjhuzk; -           2 ,5 ,8 ,11, ...   vDk; vz;njhlupapy;  

 5 – 2 = 3  8 – 5 = 3  11 – 8 = 3 
 mLj;JtUk; ,U cWg;GfSf;fpilapyhd tpj;jpahrk; rkdhFk;. 
 MfNt NkYs;s vz;njhlup xU $l;ly; tpUj;jpahFk;. 

gapw;rp - 1 

1) fPOs;s vz;njhlupfspd; mLj;JtUk; cWg;GfSf;fpilapyhd tpj;jpahrj;ijf; fhz;f. 
i. 5 , 7, 9, 11> ... 

 

ii. 1 ,4 ,7 ,10> ... 

 

iii. 8 ,13, 18 ,23> ... 

 

iv. -17 ,-14, -11, -8> ... 

 

v. 80, 77, 74, 71> ... 
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2) fPNo jug;gl;Ls;s vz;njhlupfSs; $l;ly; tpUj;jpfSf;nfjpNu (    )  FwpaPl;ilAk; 
mt;thwy;yhjtw;wpw;nfjpNu (    ) FwpaPl;ilAk; jug;gl;Ls;s ,ilntspapy; Fwpg;gpLf. 

i. 7 ,10, 13, 16> ...       (....................... )          

ii. 5, 9, 13, 17> ...               (.......................) 

iii. 2, 5, 11, 16> ...               (.......................) 

iv. -7, -11, -15, -19> ...   (.......................) 

v. -12, -6, 1, 8> ...               (.......................) 

 

$l;ly; tpUj;jpnahd;wpd; fiyr;nrhw;fis ,dq;fhz;ghu;. 

 2 ,5 ,8 ,11 , ...   vDk; vz;njhlupiaf; fUJNthk;. 

 

,q;F,  

 KjYWg;G       >  

nghJ tpj;jpahrk;(mLj;Js;s cWg;GfSf;fpilapyhd tpj;jpahrk;)     =5-2 =3   MFk;. 

 

,q;F nghJ tpj;jpahrk;(mLj;Js;s cWg;GfSf;fpilapyhd tpj;jpahrk;)    rkdhifahy; 
,J xU $l;ly; tpUj;jpahFk;. NkYk; ,f;$l;ly; tpUj;jpapd; KjYWg;G 2 ck; ,uz;lhk; 

cWg;G       ck; %d;whk; cWg;G       ck; ehd;fhk; cWg;G        ck; 
MFk;. mjd;gb  

                  

                  

                  

                  

 

KjYWg;G   ck; nghJtpj;jpahrk;   ck; MfTs;s $l;ly; tpUj;jpnahd;wpd; cWg;Gfspd; 

vz;zpf;if   vdpd;   Mk; cWg;G  

                                                                                    

                                                                                                                                MFk;. 

gapw;rp 2 

1. 3, 7, 11, 15> ... vDk; $l;ly; tpUj;jpapy;     If;fhz;f. 

 

 

2. 4, 8, 12, 16> ...  vDk; $l;ly; tpUj;jpapd; KjYWg;igAk; nghJ tpj;jpahrj;ijAk; 

fhz;f.  

 

 

𝑇𝑛  𝑎   𝑛    𝑑 
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3. fPNo Fwpg;gplg;gl;lit rupnadpd; (    )  vdTk; gpionadpd; (   ) vdTk; 

,ilntspapy; Fwpg;gpl;L $l;ly; tpUj;jpnadpd;  >   I ,ilntspfspy; vOJf. 

i. 5, 12, 19, 26> ...  ,J xU $l;ly; tpUj;jpahFk; (...........)     = ...... >    = ...... 

ii. 3, 6, 12, 24> ... ,J xU $l;ly; tpUj;jpahFk; (...........)     = ...... >    = ...... 

iii. 100, 95, 90, 85> ...  ,J xU $l;ly; tpUj;jpahFk; (...........)     = ...... >    = ...... 

iv. -11, -8, -5, -2> ... ,J xU $l;ly; tpUj;jpahFk; (...........)     = ...... >    = ...... 

v. -24, -20, -15,-10> ... ,J xU $l;ly; tpUj;jpahFk;   (...........)     = ...... >    = ...... 

4. -10, -7, -4, -1, .... , ....> ...  ,J xU $l;ly; tpUj;jpahFk;. ,t;tpUj;jpapd; ,ilntspapy; 

tUk;; ,U cWg;GfisAk; vOJf.  

 

 

 

 

            vDk; #j;jpuj;ijg; gad;gLj;jp    >   epiwntz;fshFk; 

NghJ $l;ly; tpUj;jp xd;wpd;   Mk; cWg;igf; fhz;ghu;. 

 cjhuzk;- 

 2, 5, 8, 11> ... vDk; $l;ly; tpUj;jpapd; 10 Mk; cWg;igf; fhz;f. 

       a = 2,          ,      ,      ? 
                        

               

           

          

                  

 
 

gapw;rp - 3 

1. 3,7,11,15> ... vDk; $l;ly; tpUj;jpapd; 8 Mk; cWg;igf; fhz;f. 

 

 

2. 7,10,13,16> ... vDk; $l;ly; tpUj;jpapd; 12 Mk; cWg;igf; fhz;f. 

 

 

3. 1,4,7,10> ... vDk; $l;ly; tpUj;jpapd; 15 Mk; cWg;igf; fhz;f. 

 

 

4. -2,-6,-8,-10> ... vDk; $l;ly; tpUj;jpapd; 21 Mk; cWg;igf; fhz;f.  
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5. -3,-5,-7,-9> ... vDk; $l;ly; tpUj;jpapd; 10 Mk; cWg;igf; fhz;f. 

 

 

 

6. 48,46,44,42> ... vDk; $l;ly; tpUj;jpapd; 10 Mk; cWg;igf; fhz;f. 

 

 

 

7. 79,76,73,70> ... vDk; $l;ly; tpUj;jpapd; 11 Mk; cWg;igf; fhz;f. 

 

 

 

 

8. -80,-75,-70,-65> ... vDk; $l;ly; tpUj;jpapd; 8 Mk; cWg;igf; fhz;f. 

 

 

 

9.   3      5  MfTs;s $l;ly; tpUj;jpapd; Kjy; %d;W cWg;GfisAk; vOJf.  

 

 

 

10. KjYWg;G 5 MfTk; nghJtpj;jpahrk; 3 MfTk; cs;s $l;ly; tpUj;jpapd; 16 Mk; 

cWg;igf; fhz;f. 

 

 

 

 

11. $l;ly; tpUj;jpnahd;wpd; KjYWg;G 30 ck; nghJ tpj;jpahrk; 4 ck; vdpd; 11 Mk; 

cWg;igf; fhz;f.  
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  >   epiwntz;fshfTs;s $l;ly; tpUj;jp xd;wpd;    Mk; cWg;G(  ) 

jug;gl;Ls;s NghJ    ,d; ngWkhdj;ij #j;jpuj;ijg; gad;gLj;jpf; fhz;ghu;. 
 
cjhuzk;- 

 $l;ly; tpUj;jpnahd;wpd; KjYWg;G 2 ck; nghJ tpj;jpahrk;   Mk; cWg;G 44 ck; 

MFnkdpd; tpUj;jpapYs;s cWg;Gfspd; vz;zpf;ifiaf; fhz;f. a = 2,      ,      , 

     44,     

                       

                      

                

           
  

 
 

      

 
  

                 

                 

 

 

gapw;rp - 4 

01.  

1. a = 3,      ,      48 MfTs;s $l;ly; tpUj;jpapd; cWg;Gfspd; vz;zpf;ifiaf; 
fhz;f. 

 
 
 
 

2. a = 7,      ,      51 MfTs;s $l;ly; tpUj;jpapd; cWg;Gfspd; vz;zpf;ifiaf; 
fhz;f.  

 
 
 
 

3. a = 5,       ,      -65 MfTs;s $l;ly; tpUj;jpapd; cWg;Gfspd; vz;zpf;ifiaf; 
fhz;f. 

 
 
 
 
  

4. $l;ly; tpUj;jpnahd;wpd; KjYWg;G 4> nghJ tpj;jpahrk; 3 vdpd; filrp cWg;G 55 
Mtjw;F fhzg;gl Ntz;ba cWg;Gfspd; vz;zpf;ifiaf; fhz;f. 
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5.  $l;ly; tpUj;jpnahd;wpd; KjYWg;G 5> nghJ tpj;jpahrk; 4 vdpd; filrp cWg;G 49 
Mtjw;F fhzg;gl Ntz;ba cWg;Gfspd; vz;zpf;ifiaf; fhz;f. 

 
 
 
 
 

6. $l;ly; tpUj;jpnahd;wpd; KjYWg;G -120> nghJ tpj;jpahrk; 6 vdpd; filrp cWg;G 60 
Mtjw;F fhzg;gl Ntz;ba cWg;Gfspd; vz;zpf;ifiaf; fhz;f. 

 
 
 
 

7. 11,15,19,23> ... vDk; $l;ly; tpUj;jpapy; 51 vj;jidahk; cWg;ghFk;. 
 
 
 
 
 

8. -7,-12,-17,-22> ...  vDk; $l;ly; tpUj;jpapy; -92 vj;jidahk; cWg;ghFk;. 
 
 
 
 
 
 

 
02.                #j;jpuj;ijg; gad;gLj;jp ,ilntsp epug;Gf. 

 

         

3 4 12 ................... 
3 4 ................. 51 
3 ............... 14 55 

.............. 4 20 79 
 

 

2-3 epkplq;fSf;Fs; jPu;itg; ngWf. 

1. 4,0,-4> ...  vDk; $l;ly; tpUj;jpapd; 8 Mk; cWg;G ahJ? 

 

 

2. 7,12,17> ... vDk; $l;ly; tpUj;jpapd; 12 Mk; cWg;G ahJ? 

 

 

3. 4,11,18,25> ... vDk; $l;ly; tpUj;jpapd; 10 Mk; cWg;G ahJ? 

 

 

4. -80,-74,-68> ... vDk; $l;ly; tpUj;jpapd; 12 Mk; cWg;G ahJ? 
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5. 5,8,11,14> ... vDk; $l;ly; tpUj;jpapy; 41 vj;jidahk; cWg;ghFk;? 

 

 

 

6. 7,11,15,19> ...  vDk; $l;ly; tpUj;jpapy; 67 vj;jidahk; cWg;ghFk;? 

 

 

 

7. 8,12,16,20> ... vDk; $l;ly; tpUj;jpapy; 88 vj;jidahk; cWg;ghFk;? 

 

 

 

8. 97,94,91,88> ...  vDk; $l;ly; tpUj;jpapy; 49 vj;jidahk; cWg;ghFk;? 

 

 

9. 13,10,7.... vDk; $l;ly; tpUj;jpapy;     vd;gtw;iwf; fhz;f. 

 

 

10. 12,20,28> ...  vDk; $l;ly; tpUj;jpapy;     vd;gtw;iwf; fhz;f. 

 

 

 

11. -4,-7,-10,-13> ... vDk; $l;ly; tpUj;jpapy;     vd;gtw;iwf; fhz;f. 

 

 

 

12. 100,98,96,94> ... vDk; $l;ly; tpUj;jpapy;     vd;gtw;iwf; fhz;f.  

 

 

 

13. 5,12,19,26> ... vDk; $l;ly; tpUj;jpapd; KjYWg;igAk; nghJtpj;jpahrj;ijAk; fhz;f. 

 

 

 

14. 120,117,114,111> ... vDk; $l;ly; tpUj;jpapd; KjYWg;igAk; nghJtpj;jpahrj;ijAk; 

fhz;f.  
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15. -17,-14,-11> ... vDk; $l;ly; tpUj;jpapd; KjYWg;igAk; nghJtpj;jpahrj;ijAk; fhz;f. 

 

 

 

16. fPNo jug;gl;Ls;s vz;njhlupfSs; $l;ly; tpUj;jpfis ,dq;fz;L mtw;wpd; fPof; 
NfhbLf. 

i.  2,6,18,54... 
ii. 5,8,11,14... 

iii. 1,3,6,10... 
 

17. $l;ly; tpUj;jpnahd;wpd;   Mk; cWg;igf; fhz;gjw;fhd #j;jpukhtJ 

i.             

ii.               

iii.     
 

 
       

 

 

18. 5,9,13,17... vDk; $l;ly; tpUj;jpapy; 10 Mk; cWg;igf; fhz;gjw;F %tu; vOjpa 

gbKiwfs; fPNo jug;gl;Ls;sd. rupahd gbKiwiaf; fz;L ,ilntspapy; (√) ,Lf. 

a.                  ............... 

b.                           ............... 

c.                            ............... 

 
19. $l;ly; tpUj;jpnahd;wpd; 5Mk;> 6Mk; cWg;Gfs; KiwNa 11> 16 MFk;. ,jd; nghJ 

tpj;jpahrkhtJ  

i. 6 MFk;.   

ii. 5 MFk;.   

iii. -5  MFk;.  

 
 

20. $l;ly; tpUj;jpnahd;wpd; 2Mk;> 3Mk; cWg;Gfs; KiwNa -3> -7 MFk;. ,jd; nghJ 
tpj;jpahrkhtJ  

i. 4 MFk;. 

ii. -4 MFk;. 

iii. 10 MFk;. 

 

 

 
21.  $l;ly; tpUj;jpnahd;wpd; 2Mk;> 3Mk; cWg;Gfs; KiwNa 7ck; 11 ck; vdpd; tpUj;jpapd;  

i. nghJ tpj;jpahrj;ijf; fhz;f. 
 
 
 

ii. Kjyhk; cWg;igf; fhz;f. 
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22.   ...., 3 ,0, -3, -6, .... > ... ,t;ntz;Nfhyk; vt;tif tpUj;jp vd vOjp ,ilntspapy; 

tuNtz;ba cWg;Gfis vOJf. 

 

 

 

23.  -2, ......... , -12 , -17 vd;gd $l;ly; tpUj;jpnahd;wpd; mLj;Js;s 4 cWg;GfshFk;. 

,ilntspf;Fg; nghUj;jkhd vz;iz vOJf. 

 

 

 

 

24. $l;ly; tpUj;jpnahd;wpd; KjYWg;G 5 ck; nghJ tpj;jpahrk; 3 ck; vdpd; tpUj;jpapd; 

Kjy; 3 cWg;Gfis vOJf. 

 

 

 

25.  $l;ly; tpUj;jpnahd;wpd; KjYWg;G 1 ck; nghJ tpj;jpahrk; -2 ck; vdpd; tpUj;jpapd; 

Kjy; 3 cWg;Gfis vOJf. 

 

 
 

26. $l;ly; tpUj;jpapd; KjYWg;G   ck; nghJ tpj;jpahrk;   ck; vdpd; mt;tpUj;jpapd; 

,uz;lhk; cWg;ig     rhu;gpy; vOJf.  

 

 

 

 

 

 

27.              vd;gJ $l;ly; tpUj;jpnahd;wpd;   Mk; cWg;gpw;fhd #j;jpukhFk;. 

mjpy;     ,dhy; Fwpg;gplg;gLtd ahit? 

 

 

 

28. rupahd tpilfSld; ,izf;f. 
 
 
 
 
 
 
 

$l;ly; tpUj;jp      nghJtpj;jpahrk;              

6 , 11, 16, 21> ...                      -5 

-6 , -11, -16, -21> ...                  5 

21 , 16, 11, 6> ...          5 
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29. 1 ,ypUe;J Muk;gpf;Fk;> nghJtpj;jpahrk; 3 If; nfhz;l $l;ly; tpUj;jpapd; Kjy; 3 
cWg;Gfis vOJf
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ghlk;   - 3 

juk;                 : 10 

jtiz  :  I 

ghl cs;slf;fk;  : gpd;dq;fs; njhlu;ghd vspa gpurpdq;fs; (03) 

fw;ww;NgWfs;  : 

 md;whl tho;f;ifapy; gpd;dq;fs; gad;gLk; re;ju;g;gq;fis tpgupg;ghu;. 

         tpjp mlq;fyhf gpd;dq;fs; njhlu;GWk; md;whl tho;f;ifapd; vspa 
gpurpdq;fisj; jPu;g;ghu;. 
(milg;Gld; 3 fzpjr; nra;iffs; kl;Lk;) 

 

Nkw;$wpa fw;ww;NgWfis mile;J nfhs;tjw;fhf fw;wy; fw;gpj;jy; nraw;ghLfspd; NghJ 
ftdQ; nrYj;j Ntz;bait. 

 rk gFjpnaz;fisf; nfhz;l gpd;dq;fisf; $l;Lk; jpwd;.  
 vz;fspd; nghJklq;FfSl; rpwpaijf; fhZk; jpwd;. 
 rkdw;w gFjpnaz;fSldhd gpd;dq;fspd; $l;ly;> fopj;jypd; NghJ gFjpnaz;iz 

rkg;gLj;j Ntz;Lnkd;gJ. 
 Kiwahd gpd;dq;fspd; $l;ly;> fopj;jy;> ngUf;fy;> tFj;jy; gw;wpa mwpT. 
 fyg;ngz;fspd; $l;ly;> fopj;jy;> ngUf;fy;> tFj;jy; gw;wpa mwpT. 
 ,U vz;fSf;fpilapy; ',d;" ,lg;gl;bUg;gpd; mJ ngUf;fiyf; Fwpf;Fnkd;gJ. 
 xd;wpw;F Nkw;gl;l fzpjr; nra;iffs; ,lg;gl;Ls;s NghJ mtw;iwr; RUf;Ftjw;F 

       xOq;FKiwia mwpe;jpUj;jy;. 
 ,Wjp tpilia vspa tbtpy; fhl;l Ntz;Lnkd;gJ (Kiwikg; gpd;dkhf my;yJ 

fyg;ngz;zhf) 

cjhuzk; - 1. 

RUf;Ff. 

 (i) 
 

 
 

 

 
 (ii) 

 

 
 

 

 
 (iii) 

 

 
 

 

 
 

 

 
 

 = 
 

 
 = 

 

 
 = 

 

 
 

 

cjhuzk; - 2. 

RUf;Ff. 

 (i) 
 

 
 

 

 
 (ii) 

 

 
 

 

 
 (iii) 

 

 
 

 

 
 

 

 
 

 = 
    

 
 = 

   

  
 = 

           

 
 

 = 
 

 
 = 

 

  
 = 

 

 
 

     = 
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cjhuzk; - 3. 

RUf;Ff. 

 (i) 
 

 
 

 

 
 (ii) 

 

 
 

 

 
 (iii) 

 

 
 

 

 
 

 

 
 

 = 
 

 
 = 

 

 
 = 

 

  
 

 

cjhuzk; - 4. 

RUf;Ff. 

 (i) 
 

 
 

 

 
 (ii) 

 

 
 

 

 
 (iii) 

 

 
 

 

 
 

 

 
 

 = 
 

 
  

 

 
 = 

 

 
  

 

 
 = 

  

 
   

 

 
 

 

 
 

 =   = 
 

 
 = 

 

 
   

gapw;rp 
 
1. fPNo ,lg;gf;fj;jpYs;s gpd;dq;fisr; RUf;fp rupahd tpilia tyg;gf;fkhf 

cs;stw;Wld; ,izf;f. 
 

 (i) 
 

 
 

 

 
 

 

 
 

 (ii) 
 

 
 

 

 
 

 

 
 

 (iii) 
 

  
 

 

  
 

 

 
 

 (iv) 
 

 
 

 

 
 

 

 
 

 (v) 
 

 
 

 

 
 

 

 
 

 

 
 

 (vi) 
 

 
 

 

 
 

 

 
 

 

 
 

 (vii) 
 

 
 

 

 
 

 

 
 

 

 
 

 (viii) 
 

 
 

 

 
   

 (ix) 
 

 
 

 

 
 

 

 
 

 

 
 

 (x) 
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2. 
 

 
 

 

 
   ,d; kpfr;rupahd tpiliaf; fPOs;stw;Ws; njupT nra;J mjd; fPo; NfhbLf.  

 

 (i) 
 

 
 (ii) 

 

 
 (iii)  

 

 
 (iv)  

 

 
 

 
cjhuzk; - 5. 

RUf;Ff. 

     ( 
 

 
  

 

 
) x  

 

  
             ( 

 

 
 

 

 
) 

   (
 

 
 

 

 
) x 

  

  
           (

  

 
 

 

 
) 

   (
     

  
) x 

  

  
           (

      

  
) 

   
  

  
   x  

  

  
             

  

  
 

   
 

 
                 

  

  
 

 = 4
 

 
                 

gapw;rp 
RUf;Ff. 

     (
 

 
 

 

 
)              

 

 
 ( 

 

 
 

 

 
) 

 

 

 

 

       ( 
 

 
 

 

 
)    

 

  
         (

 

 
 

 

 
)    

 

 
 

 

 

 

 

     (
 

 
 

 

 
)    
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            ( 

 

 
  

 

 
)    

 

 
 

 

 

 

 
 
gapw;rp 

1. jhq;fpnahd;wpd; 
 

 
 gq;F epuk;gpAs;s ePupypUe;J mj;jhq;fpapd; 

 

 
 gq;fpw;Fr; rkdhd ePu; 

gad;Lj;jg;gl;lnjdpd; jhq;fpapy; vQ;rpa ePupd; msit gpd;dkhff; fhl;Lf.  
 
 
 
 
 

2. mky; gadnkhd;wpd; 
 

 
 gq;if Ng&e;jpYk; 

 

 
 gq;if Kr;rf;fu tz;bapYk; kPjpia    

    ele;Jk; nrd;whd;. 

I. Ng&e;jpYk; Kr;rf;fu tz;bapYk; gadpj;j J}uk; KOg;gadj; J}uj;jpd; vd;d gpd;dkhFk;?  

 

 

 

II. ele;J nrd;w J}uj;ij KOj;J}uj;jpd; gpd;dkhff; fhl;Lf. 

 

  

3. jhq;fpnahd;wpd; 
 

 
 gq;F ePuhy; epuk;gpAs;sJ. mjd; 

 

 
 gq;F ePu; frpe;J tPzhfpaJ 

I. frpe;J tPzhfpa ePu; jhq;fpapd; vd;d gpd;dkhFk;? 
 
 
 
 
 

II. frpe;J tPzhfpajd; gpd; vQ;rpa ePu; jhq;fpapd; vd;d gpd;dkhFk;?  
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III. jhq;fpapd; 
 

 
 gq;F  ePu; Efug;gl;lnjdpd; jhq;fpapy; vQ;rpAs;s ePupd; msit 

nkhj;jj;jpd; gpd;dkhff; fhl;Lf. 
 

 

  

 

4. gadnkhd;wpd; 
 

 
 gq;F      vdpd; KOg;gadj; J}uj;ijf; fhz;f. 

 

 

5. jhq;fpnahd;wpd;  
 

 
 gq;F 500  MFnkdpd; jhq;fpapd; KOf;nfhs;ssitf; fhz;f. 

 

 

6. xU kdpjdpd; khjr; rk;gsj;jpd; 
 

 
 gq;F &gh 28000 vdpd; mtdJ khjr; rk;gsj;ijf;  

    fhz;f.  
 
 
 
 

7. mkyplk; &gh 1200 ,Ue;jJ. mjpy; 
 

 
 gq;F nryT nra;ag;gl;lnjdpd; nryT nra;ag;gl;l 

njhifiaf; fhz;f.  
 
 
 
 
 

 

8. xU tpahghup nfhs;tdT nra;j khq;fha;fSs; 
 

 
  gq;F gOj;jitAk; 

 

 
 gq;F      

    gr;irAkhFk;.  

I. kPjp gOjile;jit vdpd; gOjile;jit nkhj;j khq;fha;fspd; vd;d gpd;dkhFk;?  

 

 

 

 

II. ey;ytw;Ws; 
 

 
 gq;F tpw;fg;gl;lnjdpd; tpw;fg;gl;l khq;fha;fs; nkhj;j khq;fha;fspd; 

vd;d gpd;dk;?   
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III. tpw;fg;gl;l gpd; vQ;rpa khq;fha;fs; 120 vdpd; gOjile;j khq;fha;fs; vj;jid? 

 

 

IV. nfhs;tdT nra;j khq;fha;fspd; vz;zpf;if ahJ? 

 

 

9. xUtu; jdJ gzj;jpd; 
 

 
 I gzkhf ifapy; itj;jpUe;jhu;. jpBnud Vw;gl;l 

nts;sg;ngUf;fpd; fhuzkhf &gh 420000 mope;J NghdJ. vQ;rpa gzk; mtDf;Fr; 

nrhe;jkhd gzj;jpd; 
 

 
 gq;fhFk;.  

 

(i) mope;J Nghd gzk; nkhj;jg; gzj;jpd; vd;d gpd;dkhFk;? 

 

 

(ii) vQ;rpa gzj;ijf; fhz;f. 

 

(iii) mtdplkpUe;j nkhj;jg; gzj;ijf; fhz;f. 

 

 

9. Fwpj;j mgptpUj;jpj; jpl;lnkhd;wpd; NghJ mfw;wg;gl;l tPLfSf;Fg; gjpyhf tPl;il 
,oe;NjhUf;F fhzp toq;fg;gl;L tPL fl;Ltjw;F gFjpfshf gzk; toq;fg;gl;lJ. Kjypy; 

Muk;gf; fhzpapd; ngWkjpapd; 
 

 
 ck; ,uz;lhtjhf kPjpapd; 

 

 
 gq;Fk; toq;fg;gl;lJ. 

,Wjpahf vQ;rpa njhif &gh 750000 toq;fg;gl;lJ 

 

(i) Muk;gj;jpy; gzk; toq;fpa gpd; NkYk; toq;f vQ;rpa gzj;ij KOg;gzj;jpd; 

gpd;dkhfj; jUf. 

 

(ii) ,uz;lhtjhf toq;fg;gl;lnjhif KOg;gzj;jpd; vd;d gpd;dkhFk;? 

 

 

 

(iii)  Kjyhk; ,uz;lhk; jlitfspy; ngw;Wf; nfhz;l gzj;njhif Muk;gf; fhzpapd; 

ngWkjpapd; vd;d gpd;dnkdf; fhz;f. 
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(iv) ,uz;lhtjhf toq;fg;gl;l gzj;njhifiaf; fhz;f. 

 

 

(v) Muk;gf; fhzpapd; ngWkjpiaf; fhz;f. 

 

 

10. epkyplkpUe;j gzj;jpd; 
 

 
 I kidtpf;Fk; kPjpia rkdhf ,U kfd;fSf;Fk; gpupj;Jf; 

nfhLj;jhd;. xU kfDf;Ff; fpilj;j gq;iff; fhz;f.   

 

 

11. epu;kyh jdJ khjr; rk;gsj;jpy; 
 

  
 I cztpw;Fk; 

 

  
 I Nghf;Ftuj;jpw;Fk; xJf;fpdhs; 

vdpd; mts; czT> Nghf;Ftuj;jpw;F xJf;fpa gpd;dq;fspd; tpj;jpahrj;ijf; fhz;f. 

 

 

 

12. ghj;jpunkhd;wpd; 
 

 
 ePupdhy; epuk;gpAs;sJ. mg;ghj;jpuj;jpd; 

 

  
 ,w;Fr; rkdhd ePu; ntspNa 

vLf;fg;gl;l gpd;du; vQ;rpa ePupd; msitg; gpd;dkhff; fhl;Lf. 

 

 

13. rq;fnkhd;wpd; tUlhe;j ,yhgj;jpy; 
 

 
 I mq;fj;jtu;fspilNa gq;fplj; jPu;khdpf;fg;gl;lJ. 

mr;rq;fj;jpd; tUl ,yhgk; &gh 4 000 vdpd; mq;fj;jtu;fspilNa gq;fplg;gl Ntz;ba 
njhifiaf; fhz;f. 

 

 

14. efunkhd;wpd; rdj;njhifapd; 
 

 
 gq;fpdu; ghlrhiy khztu;fshtu;. rdj;njhifapd;  

 

  
 

gq;fpdu; mur Copau;fshtu;. kPjpg; Ngu; 73 908 MFk;.  

I. kPjpg;Ngiu nkhj;j rdj;njhifapd; gpd;dkhf vOJf. 

 

II. efuj;jpd; nkhj;j rdj;njhifiaf; fhz;f. 

 

III. khztu;fspd; vz;zpf;ifiaf; fhz;f. 
 

 

IV. mur Copau;fspd; vz;zpf;if ahJ? 
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15. xU kdpjd; jdf;Fr; nrhe;jkhd fhzpapd;  
 

 
 I kfDf;Fk; 

 

  
  I kfSf;Fk; guprspj;jjd; 

gpd; kPjpia &gh 10 600 ,w;F tpw;why; KOf;fhzpapd; ngWkjpiaf; fhz;f. 

 

 

 

16. ml;ltizapYs;s ,ilntspfis epug;Gf. 

  

 

 

gzj;njh
if 

xd;wpy; A 
,w;F 

toq;fpa 
gq;F 

kPjp 
kPjpapy; B 

,w;F toq;fpa 
gq;F 

A ,w;Fk; 
B ,w;Fk; 
toq;fpa 
gq;F 

A ,w;Fk; 
B ,w;Fk; 
toq;fpa 
gpd; 

vQ;rpa 
gq;F 

A ,w;Fk; 
B ,w;Fk; 
toq;fpa 
gpd; 

vQ;rpa 
ngWkjp 

gq;fplg;gl;l 
nkhj;jj; 

njhif (&) 

 

 
 

  
   

 
 

 

 
     

 

 

 
  ,d; 

 

 
 = 

 

 
 

 

 
 + 

 

 
 

 

 
 1- 

 

 
 

 

 
 &. 4 000 4000 x 5 = 20 000 

 

 
 ..................... .... ,d;  

 

 
 = ...... .................. ................... &. 3 000 .......................... 

 

 
 ..................... ......,d;  

 

 
 = ...... .................. ................... &. 1 000 .......................... 

 

 
 ..................... ......,d;  

 

 
 = ...... .................. ................... &. 500 .......................... 

 

 
 ..................... ......,d;  

 

 
 = ...... .................. ................... &. 2 000 ............ .............. 



 

 

ghlk;  - 4 

juk;                              : 10 

jtiz   : I 

ghl cs;slf;fk;              :  Neu;khW tpfpjrkd; (04) 

fw;ww;NgWfs; : 

 ,U fzpaq;fSf;fpilapyhd njhlu;ig tpgupg;gjd; %yk; Neu;khW tpfpjrkid 

,dq;fhz;gu;. 

 Neu;khWtpfpjrkd; njhlu;ghd mwpitg; gad;gLj;jp Ntiy kw;Wk; Neuk; njhlu;ghd 

gpurpdq;fisj; jPu;g;ghu;. 

 Nkw;$wpa fw;ww;NgWfis mile;J nfhs;tjw;fhf fw;wy; fw;gpj;jy; nraw;ghLfspd; NghJ 
ftdQ; nrYj;j Ntz;bait. 

          Mfpa mbg;gil fzpjr; nra;iffs;> ngUf;fy; ml;ltiz njhlu;ghd 
mwpT. 

 ve;jnthU tpfpjj;ijAk; gpd;dkhff; fhl;lyhnkd;gJ. 
 tpfpjrkd;fs; ,U tifg;gLk;. 

1. Neu; tpfpjrkd; 
2. Neu;khW tpfpjrkd; 

 Neu; tpfpjrkdpy; xU fzpak; mjpfupf;fpd;w NghJ mjw;F Nenuhj;jthW kw;iwa 
fzpaKk; mjpfupf;Fk;. xU fzpak; Fiwfpd;wNghJ mjw;Nfw;g kw;iwa fzpaKk; 
FiwAk;. 
 
cjhuzk; : xU khk;goj;jpd; tpiy &gh 50.00 MFk;NghJ 8 khk;goq;fspd; tpiy 
&gh 400.00 MFk;.  
 

 Neu;khW tpfpjrkdpy; xU fzpak; mjpfupf;fpd;w NghJ mjw;F Nenuhj;jthW kw;iwa 
fzpak; FiwAk;;. xU fzpak; Fiwfpd;wNghJ mjw;Nfw;g kw;iwa fzpak; 
mjpfupf;Fk;. 
 

 Neu;khWtpfpjrkdpy; gpd;dkhff; fhl;lg;gl;l xU fzpak; epfu;khwhff; fhl;lg;gl 
Ntz;Lk;. mg;NghJ Neu;khW tpfpjrkd; njhlu;G ngwg;gLk;. 
 
 

 Ntiynahd;iwr; nra;tjw;F ciog;Gk; fhyKk; mtrpakhFk;. Mifahy; 
NtiyahdJ kdpj ehl;fs;> kdpj kzpj;jpahyq;fs; Mfpa myFfspy; msf;fg;gLk;. 
 
cjhuzk;: xU Ntiyia 6 kdpju;fs; 3 ehl;fspy; nra;J Kbg;ghnudpd; mt;Ntiy 
18 kdpj ehl;fisf; nfhz;ljhFk;. 
 

 Fwpj;j Ntiynahd;wpd; kdpj ehl;fspd; vz;zpf;if khwhjpUf;f kdpju;fspd; 
vz;zpf;if my;yJ ehl;fspd; vz;zpf;if jug;gLk; NghJ mLj;j fzpaj;ijj; 
njupe;J nfhs;syhk;.         
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cjhuzk 01 :  

Fwpj;j Ntiynahd;iw KOikahf epiwT nra;tjw;F 5 kdpju;fSf;F 8 ehl;fs; 
vLf;Fk;. mt;Ntiyia 4 ehl;fspy; nra;J Kbf;f vj;jid kdpju;fs; Njitg;gLtu;? 

,g;gpurpdj;jpy; Ntiyf;fhd kdpj ehl;fspd; vz;zpf;ifiaf; fz;L nfhs;s Ntz;Lk;. 
 
Ntiy       
           kdpj ehl;fs; 

 ,q;F Ntiyapd; msT khwhJ. 
 Ntiyapd; msT khwhj NghJ ehl;fspd; vz;zpf;if mjpfupf;Fk; NghJ kdpju;fspd; 

vz;zpf;if FiwAk;. ehl;fspd; vz;zpf;if FiwAk; NghJ kdpju;fspd; vz;zpf;if 
mjpfupf;Fk;. vdpDk; ,uz;bdJk; ngUf;fk; rkdhFk;. 
MfNt  
40 = kdpju;fspd; vz;zpf;if   ehl;fspd; vz;zp;fif 
 
        
 
  

 
    

 
      
MfNt 10 kdpju;fs; Njitg;gLtu;. 
 

cjhuzk; 02: 
 

8 kdpju;fs; Fwpj;j Ntiynahd;iw 3 ehl;fspy; nra;J Kbg;gu;. 4 kdpju;fSf;F 
mt;Ntiyia nra;J Kbg;gjw;F vj;jid ehl;fs; Njitg;gLk;? 

 
Ntiyapd; msT  = 24 kdpj ehl;fs;. 

        
  

 
    

     
 
4 kdpju;fSf;F 6 ehl;fs; Njitg;gLk;. 

 
 
cjhuzk; 03: 
 
Fwpj;j xU njhifg; nghUl;fis cw;gj;jp nra;tjw;F 5 ,ae;jpuq;fis 6 
kzpj;jpahyq;fSf;F ,af;f Ntz;Lk;. Fwpj;j ehnshd;wpy; 2 ,ae;jpuq;fs; gOjile;jjdhy; 
3 ,ae;jpuq;fNs ,aq;fpd. Nkw;Fwpg;gpl;l nghUl;njhFjpia cw;gj;jp nra;tjw;F 
gOjilahj ,ae;jpuq;fis ,af;f Ntz;ba kzpj;jpahyq;fspd; vz;zpf;ifiaf; fhz;f. 
 
Ntiy   ,ae;jpuq;fspd; vz;zpf;if    kzpj;jpahyq;fspd; vz;zpf;if 
         
  

 
    

      
 
MfNt ,ae;jpuq;fs; 10 kzpj;jpahyq;fs; ,aq;f Ntz;Lk;. 
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gapw;rp : 1 

fPNojug;gl;Ls;s fzpaq;fSf;fpilapyhd njhlu;G Neu;tpfpjrkdh?> Neu;khWtpfpjrkdh> 
vdf; fhz;f. 

1. tpLjpnahd;wpy; jq;fpAs;s khztu; vz;zpf;ifAk; fsQ;rpaj;jpYs;s czT 
mtu;fSf;Fg; NghJkhFk; ehl;fspd; vz;zpf;ifAk;. 

 
 
 

2. xU tifj; Jzpapd; ePsKk; mjd; tpiyAk;. 

 

3. gug;gsT khwpypahf mikAk; nrt;tfnkhd;wpd; ePsKk; mjd; mfyKk;. 
 

 
 

4. khwhj; J}uj;ijf; flf;Fk; thfdnkhd;wpd; khwhf; fjpAk; mjw;nfLf;Fk; fhyKk;. 

 

5. Rw;Wyhnthd;wpy; gq;Fgw;Wk; khztu;fspd; vz;zpf;ifAk; mtu;fSf;Fj; Njitg;gLk; 
Ng&e;Jfspd; vz;zpf;ifAk;. 

 
 

6. VNjDk; xU tifapd; Fwpj;j nghUl; njhFjpnahd;iw cw;gj;jp nra;tjw;Fg; 
gad;gLj;jj;jf;f ,ae;jpuq;fspd; vz;zpf;ifAk; mit ,aq;f Ntz;ba fhyKk;. 

 
 

7. Fwpj;j gzj;njhifnahd;wpw;F nfhs;tdT nra;aj;jf;f khk;goq;fspd; vz;zpf;ifAk; 
mjd; tpiyAk;. 

 
 

8. thfdnkhd;wpy; vupnghUspd; msTk; mjidg; gad;gLj;jpr; nry;yf;$ba J}uKk;. 
 
 
 

9. Gj;jfnkhd;wpd; tpiy> Gj;jfq;fspd; vz;zpf;if. 

  

 

2 - 3 epkplq;fspy; jPu;Tfisg; ngWf. 

1. Fwpj;j Ntiynahd;wpd; miuthrpia epiwT nra;tjw;F 8 kdpju;fSf;F 4 ehl;fs; 
Njitg;gLnkdpd; mt;Ntiyf;fhd kdpj ehl;fs; vj;jid? 

 

 

2. 27 kdpj ehl;fisf; nfhz;l Ntiynahd;iw 9 kdpju;fs; vj;jid ehl;fspy; epiwT 
nra;tu;? 
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3. Ntiynahd;wpd; miuthrp 15 kdpj ehl;fshFk;. mt;Ntiyia epiwT nra;tjw;F 
Muk;gj;jpypUe;Nj 6 kdpju;fs; Ntiy nra;jhy; nrythFk; ehl;fspd; vz;zpf;ifiaf; 
fhz;f. 

 
 
 
 
 

4. tpLjpnahd;wpYs;s 20 khztu;fSf;F 30 ehl;fSf;Fg; NghJkhd czT 
fsQ;rpag;gLj;jg; gl;Ls;sJ. ,e;epiyapy; 5 khztu;fs; tpN\l tpLKiw xd;wpw;F 
tPl;Lf;Fr; nrd;why; kPjpg; NgUf;F mt;TzT vj;jid ehl;fSf;Fg; NghJkhdJ? 

 

 

 

5. 10 ,ae;jpuq;fs; 6 kzpj;jpahyq;fSs; 200 nghUl;fis cw;gj;jp nra;fpd;wd. mNj 
msT nghUl;fis cw;gj;jp nra;tjw;F 8 ,ae;jpuq;fs; vj;jid kzpj;jpahyq;fs; 
,aq;f Ntz;Lk;? 

 

 

 

6. Fwpj;j Ntiynahd;iw ehnshd;wpy; 5 kzpj;jpahyq;fs; Ntiy nra;Ak; 7 kdpju;fs; 
xU ehspy; nra;J Kbf;fpd;wdu;. mt;Ntiyf;F 5 kdpju;fs; kl;Lk; <LgLj;jg;gl;lhy; 
xt;nthUtUk; vj;jid kzpj;jpahyq;fs; Ntiy nra;a Ntz;Lk;? 

 

 

 

7. 9 khztu;fSf;F 20 ehl;fSf;Fg; NghJkhd czT fsQ;rpag;gLj;jg;gl;Ls;sJ. NkYk; 
6 khztu;fs; Gjpjhf tpLjpapy; ,ize;J nfhz;lhy; mt;TzT vj;jid ehl;fSf;Fg; 
NghJkhdJ? 

 

 

 

8. ney; mWtil nra;Ak; ,ae;jpunkhd;W 2 kzpj;jpahyq;fspy; 'x" Ntiyiar; 
nra;fpd;wJ vdpd; mNj Ntiyia mt;thwhd 4 ,ae;jpuq;fs; vj;jid 
kzpj;jpahyq;fspy; epiwT nra;Ak;? 

 

 

 

9. ghijnahd;wpw;F jhu; Cw;Wtjw;F 2 kdpju;fSf;F 8 ehl;fs; Njitg;gLk; vdpd; mNj 
ghijf;F jhu; Cw;Wtjw;F 4 kdpju;fSf;Fr; nrythFk; fhyj;ijf; fhz;;f? 
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12 - 14 epkplq;fspy; jPu;itg; ngw Kaw;rpf;f. 

1. njhopw;rhiy xd;wpy; ehl;$yp mbg;gilapy; njhopyhsu;fs; Ntiy nra;fpd;wdu;. 12 

kdpju;fs; 2 ehl;fs; Ntiy nra;jjdhy; Fwpj;j Ntiynahd;wpd; 
 

 
 gq;if epiwT 

nra;a Kbe;jJ. 

I. epiwT nra;ag;gl;Ls;s Ntiyapd; msitf; fhz;f. 
 
 
 

II. KONtiyf;Fk; mtrpakhd kdpj ehl;fs; vj;jid? 
 
 
 
 

III. ,d;Dk; vj;jid kdpj ehl;fSf;fhd Ntiy vQ;rpAs;sJ? 

 

 

IV. vQ;rpa Ntiyia 3 ehl;fSf;Fs; epiwT nra;a Ntz;Lnkdpd; <LgLj;j Ntz;ba 
kdpju;fspd; vz;zpf;ifiaf; fhz;f. 

 

 

V. xUkdpjDf;fhd ehl;$yp &gh 1800 vdpd; ,t;Ntiyf;fhd nkhj;jf; $ypiaf; 
fhz;f. 

 
 
 

 

2. fhzpnahd;wpw;W KOikahf Gy; eLtjw;F 3 NgUf;F 10 ehl;fs; nrythfpd;wd. 2 
ehl;fs; Ntiy nra;j gpd;du; xUtu; Ntiyf;F tutpy;iy. 
I. mt;Ntiyf;fhd nkhj;j kdpj ehl;fs; vj;jid? 

 

 

II. ,uz;L ehl;fspy; epiwT nra;ag;gl;Ls;s kdpj ehl;fs; vj;jid? 

 

 

III. NkYk; vQ;rpAs;s Ntiy vj;jid kdpj ehl;fisf; nfhz;lJ? 

 

 

IV. ,d;Dk; 3 ehl;fspy; Nkw;gb Ntiyia epiwT nra;tjw;F NkYk; vj;jid 
kdpju;fis <LgLj;j Ntz;Lk;? 
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ghlk; - 5 

juk; - 10 

jtiz - 1 

ghl cs;slf;fk; : tuptiffspd; mwpKfKk; tupfisf;; fzpj;jYk;(05). 

                (Rq;ftup> tUkhdtup> nrhj;J kjpg;gPl;Ltup> ngWkjp Nru;f;fg;gl;l tup) 

 

fw;ww;NgWfs; : 

 nrhj;Jtup> Rq;ftup> tUkhdtup> ngWkjp Nru;f;fg;gl;l tup Mfpa tup tiffis 
mwpe;J nfhs;thu;. 

 tupfs; %yk; mwtplg;gLk; gzkhdJ ehl;bd; mgptpUj;jpf;F gad;gLj;jg;gLk; 
tpjj;ij mwpthu;. 

 nrhj;J kjpg;gPl;L tup njhlu;ghd fzpj;jy;fspy; <LgLthu;. 
 Rq;f tup njhlu;ghd fzpj;jy;fspy; <LtLthu;. 
 tUkhd tup njhlu;ghd fzpj;jy;fspy; <LtLthu;. 
 ngWkjp Nru;f;fg;gl;l tup njhlu;ghd fzpj;jy;fspy; <LtLthu;. 
 tupfs; njhlu;ghd gpurpdq;fis tpLtpg;ghu;. 

(KOntz; tupr;rjtPjk; nfhz;lJk;; vz;ngWkhdg; ngWjpfs; nfhz;lJkhd 
fzpj;jy;fs; vjpu;ghu;f;fg;gLfpd;wd) 

 

 

Nkw;$wpa fw;ww;NgWfis mile;J nfhs;tjw;fhf fw;wy; fw;gpj;jy; nraw;ghLfspd; NghJ 
ftdQ; nrYj;j Ntz;bait.  

 gpd;dnkhd;iw KOntz; xd;why; ngUf;fy;. 
 gpd;dnkhd;iw rjtPjkhff; fhl;ly; 
 rjtPjnkhd;iwg; gpd;dkhff; fhl;ly;. 

 gpd;dnkhd;iw 100> 
 

   
 vd;gtw;why; ngUf;fy;. 

 fzpankhd;W jug;gLk; NghJ rjtPjj;ijf; fhzy;. 

 

 
ve;jnthU ehl;bYk; murpdhy; ehl;bd; kPsikTr; nryTfSf;fhf me;ehl;L 
kf;fsplkpUe;J mwtplg;gLfpd;w gzk; tup vdg;gLk;. 

nrhj;J kjpg;gPl;L tup 
khefurig> gpuNjrrig> efurig vDk; 
cs;Suhl;rp rigfs; jkJ vy;iyf;Fs; 
cs;s nrhj;JfSf;fhf mwtplg;gLk; 
tupahFk;. 

Rq;ftup 
nghUl;fspd; ,wf;Fkjpapd; NghJ 
nghUspd; ngWkjpapd; Fwpj;j 
rjtPjnkhd;iw Rq;ftupahf muR 
mwtpLfpd;wJ. 

ngWkjp Nru;f;fg;gl;l tup 
rpy tifg; nghUl;fSf;F my;yJ rpy 
NritfSf;F Efu;thsuplkpUe;J 
mwtplg;gLk; tupahFk;. 

tUkhdtup 
xUtupd; tUl tUkhdk; xU Fwpj;j 
vy;iyiaj; jhz;Lk; NghJ muR 
mwtpLk; tupahFk;. 
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gapw;rp - 1 

1. A cld; B Ig; nghUj;jkhf ,izf;f. 

                     A           B 

 nrhj;J kjpg;gPl;L tup ● nghUl;fspd; Vw;Wkjp> ,wf;Fkjpapd;         
                                  NghJ mwtplg;gLk;.  

 ● ngWkjp Nru;f;fg;gl;l tup(VAT) ● xUtupd; tUl tUkhdk; Fwpj;j    
                                         vy;iyiaj; jhz;Lk;  NghJ     
                                         mwtplg;gLk;.  

   

 ● Rq;ftup (jPu;it) ● cs;Suhl;rp rigfshy; mwtplg;gLk;. 

 

 ● tUkhd tup ● nghUl;fSlhfTk; NritfSlhfTk;  
                                         Efu;NthdplkpUe;J mwtplg;gLk;. 
 

 

gapw;rp - 2 

1. efurig vy;iyf;Fs; mike;j rJkpapd; tPl;Lf;F efurig tUlj;jpw;F &gh 2000 I 
nrhj;Jtupahf mwtpLfpwJ. tupahdJ fhyhz;Lf;nfhU jlit nrYj;jg;gLnkdpd; 
fhyhz;nlhd;wpy; nrYj;Jk; tupj;njhifiaf; fhz;f. 

 

 

 

 

2. ujpapd; je;ijf;Fr; nrhe;jkhd fl;blnkhd;wpw;F fhyhz;bw;F &gh 1000 tupahfr; 
nrYj;jg;gLnkdpd; Mz;bw;fhd tupiaf; fhz;f. 

 

 

 

 

3. &gh 25 000 kjpg;gPL nra;ag;gl;l nrhj;njhd;wpw;F fhyhz;L tupahf &gh 500 
nrYj;jg;gLnkdpd; tUlj;jpw;Fr; nrYj;j Ntz;ba tupj;njhifiaf; fhz;f. 

 

 

 

4. tUl kjpg;gPl;Lg; ngWkjp &gh 75 000 MfTs;s nrhj;jpw;F tUl tupg;gzkhf  &gh 5 
000 nrYj;jg;gLfpd;wnjdpd; fhyhz;L tupiaf; fhz;f. 
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gapw;rp - 3 

,ilntsp epug;Gf. 

nrhj;njhd;wpw;F mjd; kjpg;gPl;Lg; ngWkjpapd; 6% tupahf mwtplg;gLnkdpd;  

kjpg;gPl;Lg; ngWkjp tupj;njhif 

&gh 100 &gh 6 

&gh 200 &gh 12 

&gh 500 ............ 

&gh 1 000 ............ 

................... &gh 120 

 

tUlhe;j tupj;njhifiaf; fhzy;. 

tUl kjpg;gPl;Lg; ngWkjp &gh 50 000 MfTs;s nrhj;njhd;wpw;F Mz;bw;F 8% tup 
mwtplg;gLfpd;wJ. nrYj;j Ntz;ba Mz;L tupiaf; fhz;f. 

 

 

 

 

 

  

gapw;rp - 4 

1. ,ilntsp epug;Gf. 
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Kiw - 1 

Mz;L tup =         
 

   
   

       = &gh  4000 

Kiw - 2 

kjpg;gPl;Lg; ngWkjp tup 

100   8 

50000   𝑥 

    𝑥            

𝑥   
         

   
  = &gh. 4000 

 

tPl;bd; kjpg;gPl;Lg; ngWkjp tupr;rjtPjk; Mz;L tup 

&gh.10 000 10%         
  

   
 =&gh.1 000  

&gh.20 000 10%         
  

   
 = ................... 

&gh.40 000 10% ……… .  
…….

……..
 = .................... 

&gh.50 000 20% ……… .  
…….

……..
 = .................... 

 

5% tup vdg;gLtJ &gh 100 kjpg;gplg;gl;l nrhj;njhd;wpe;fhd tUl tup &gh 5 
vd;gjhFk;. 



 

 

2. tUlhe;j kjpg;gPl;Lg; ngWkjp &gh 50000 MfTs;s tpahghu epiyankhd;wpw;F Mz;bw;F 
5% tup mwtplg;gLfpd;wJ. mt;tpahghu epiyaj;jpw;F tUlj;jpw;Fr; nrYj;j Ntz;ba 
tupj;njhifiaf; fhz;f. 
 
 
 
 
 

3. &gh 10000 tUl kjpg;gPl;Lg; ngWkjp nfhz;l fhzpnahd;wpw;F 10% tUl tup 
mwtplg;gLnkdpd; fhyhz;bw;fhd tupiaf; fhz;f. 

 

 

tupr;rjtPjj;ijf; fzpj;jy;. 

kjpg;gPl;Lg; ngWkjp &gh 1000 MfTs;s fl;blnkhd;wpw;F tUl tupahf &gh 100 
nrYj;jg;gLfpd;wnjdpd; mwtplg;gLk; Mz;L tupr; rjtPjj;ijf; fhz;f. 

 

 

 

 

 

 

 

 

 

gapw;rp - 5 

1. ,ilntsp epug;Gf. 
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Kiw - 1 

tupr;rjtPjk; =  
   

    
      

 

                             10% 

Kiw - 2 

kjpg;gPl;Lg; ngWkjp      tup 

&.1000         100 

      100            𝑥 
 

     𝑥           

𝑥   
        

    
  = 10% 

 

fl;blj;jpd; kjpg;gPl;Lg; 
ngWkjp Mz;L tup Mz;L tupr;rjtPjk; 

&.60 000 &.3 000 
    

      
     =5% 

&.50 000 &.5 000 
    

      
      = ............. 

&.80 000 &.1 600 
………

…………..
      = ............ 

&.120 000 &.4 800 
………

…………..
      = ............ 

 



 

 

3. tUl kjpg;gPl;Lg; ngWkjp &gh 50 000 MfTs;s tPnlhd;wpw;F tUlj;jpw;F &gh 1 500 
tupahf mwtplg;gLnkdpd; mwtplg;gLk; Mz;L tupr;rjtPjj;ijf; fhz;f. 

    

 

 

3. &gh 25 000 kjpg;gplg;gl;l fhzpnahd;wpw;F fhyhz;L tupahf &gh 250 
nrYj;jg;gLnkdpd; mwtplg;gLk; Mz;L tupr;rjtPjj;ijf; fhz;f. 

 

 

 

 
jPu;it> jPu;it nrYj;jg;gl;l gpd; nghUspd; ngWkjp fhzy;. 

Nkhl;lhu; irf;fpnshd;iw ,wf;Fkjp nra;Ak; NghJ mjd; ngWkjpapd; 30% jPu;itahf 
mwtplg;gLfpd;wJ. ,wf;Fkjpapd;NghJ mjd; ngWkjp &gh 160 000 vdpd; nrYj;j Ntz;ba 
jPu;itf; fhz;f. jPu;it nrYj;jg;gl;l gpd; mjd; ngWkjpiaf; fhz;f. 

Kiw - 1 

jPu;it         &gh         
  

   
 

              &gh        

jPu;it nrYj;jg;gl;l gpd; nghUspd; ngWkjp   &gh                 

               &gh 208 000 

 

Kiw - 2 

jPu;it nrYj;jg;gl;l gpd; ngWkjp   &gh         
   

   
 

   &gh 208 000 

 

Kiw - 3 

,wf;Fkjp tpiy         jPu;itapd; gpd; ngWkjp 

100                         130 

160 000                            

100   = 130   160 000 

          =   
           

   
 

           = &. 208 000 
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gapw;rp - 6 

1. &gh 20 000 ngWkjpahd nghUnshd;wpd; jPu;itapd; gpd; ngWkjp &gh 30 000 vdpd; 
mwtplg;gl;Ls;s jPu;itiaf; fhz;f. 

 

 

 

2. &gh 2 500 ,w;F tpw;fg;gl;l fbfhunkhd;wpw;F &gh 500 jPu;itahf mwtplg; gl;bUe;jJ. 
fbfhuj;jpd; ,wf;Fkjp tpiyiaf; fhz;f. 

 

 

 

3. &gh 2 000 000 ngWkjpahd thfdnkhd;wpw;F ,wf;Fkjpapd; NghJ 50% jPu;it 
mwtplg;gl;lhy; jPu;it nrYj;jg;gl;l gpd; thfdj;jpd; ngWkjpiaf; fhz;f. 

 

 

 

4. gpd;tUk; ml;ltizia epug;Gf. 
 

 

 

 

 

 

 

 

,wf;Fkjpg; ngWkjpAk; jPu;itAk; jug;gl;Ls;s NghJ jPu;itr; rjtPjj;ijf; fhz;f. 

&gh 60 00 bgWkjpahd Fspu;rhjdg; ngl;bia ,wf;Fkjp nra;Ak; NghJ ,yq;if 
Rq;fj;jhy; Rq;fj; jPu;itahf &gh 15 000 mwtplg;gl;lhy; mwtplg;gl; jPu;itr; rjtPjj;ijf; 
fhz;f. 

Kiw - 1 

jPu;itr; rjtPjk;   
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,wf;Fkjpg; 
ngWkjp 

jPu;itr; 
rjtPjk; jPu;it jPu;itapd; gpd; 

ngWkjp 

&.3000 20%       
  

   
= &.600 3000+600= &.3600 

&.50000 10%        
  

   
 ........... 50000+ ............=.............. 

&.60000 25% ……… .  
……

……
 ........... .............+...........=............. 

&.120000 60% ……… .  
……

……
 ........... .............+...........=............. 

 



 

 

Kiw - 2  

 

 

 

 

 

 

gapw;rp - 7 

1. &gh 50 000 ngWkjpahd nghUnshd;wpd;; ,wf;Fkjpapd; NghJ ,yq;ifr; Rq;fj;jpdhy; 
&gh 10 000 Rq;fj;jPu;itahf mwtplg;gl;lJ. mwtplg;gl;l jPu;itr; rjtPjj;ijf; fhz;f. 

 

 

2. &gh 25 000 ngWkjpahd njhiyf;fhl;rp xd;wpw;F jPu;itahf &gh 2 500 
mwtplg;gl;lnjdpd; mwtplg;gl;l jPu;itr; rjtPjj;ijf; fhz;f. 

 

 

tUkhdtup fzpf;Fk; Kiw ( 2013 k; tUlj;jpw;fika) 

  

 

 

 

 

&gh 1 200 000 Mz;L tUkhdk; ngWk; xUtupd; tUkhdtupiaf; fzf;fpLk; Kiw 
gpd;tUkhW 
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tUl 
tUkhdk; tup tpLjiy 4% 8% 12% 

&.1,200,000 &.500,000 &.500,000 &.200,000 - 

 

Mz;L tUkhdk; tupr;rjtPjk; 

Kjy; &.500 000 tUkhd tup tpLjiy 

mLj;j &.500 000 4% 

mLj;j &.500 000 8% 

mLj;j &.500 000 12% 

 

ngWkjp                                     jPu;it 

&. 60000                   15000 

      100            𝑥 

 

 
 

𝑥= 4 % 

 

      𝑥  

     
 = 

      x     

     
 

mjd;gb mwtplg;gLk; tUkhdtup  
 

 

20 000 + 16 000 

&. 36000.00 

500000 x 
   

   
 + 200000 x 

 

   
 



 

 

gapw;rp - 8 
 

1. A, B, C, D Mfpa epWtdq;fspd; Mz;L tUkhdq;fs; fPNo jug;gl;Ls;sd. 

    A - &.275,000 

    B – &.550,000 

    C – &.455,000 

    D - &.600000  

  NkNy jug;gl;Ls;s epWtdq;fSs; muRf;F tUkhdtup nrYj;j Ntz;ba epWtdq;fs; 
vit? 

 

 

2.  gpd;tUk; ml;ltizia epug;Gf. 

 

 

 

 

 

 

 

 

3.  &gh 650 000 Mz;L tUkhdk; ngWk; xUtuplkpUe;J mwtplg;gl Ntz;ba tUkhd 
tupiaf; fhz;f.  

 

 

 

3. &gh 140 000 tUl tUkhdk; ngWgtu; nrYj;j Ntz;ba tUkhdtupiaf; fhz;f. 

 

 

 

4. &gh 180 000 tUl tUkhdk; ngWgtu; nrYj;j Ntz;ba tUkhdtupiaf; fhz;f. 
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Mz;L 
tUkhdk; tup tpLjiy 4% 8% 12% 

&. 800 000     

&. 1 500 000     

&. 2 000 000     

&. 4 500 000      

 



 

 

ngWkjp Nru;f;fg;gl;l tup 
 

 

 

gapw;rp - 9 

1. rJkpapd; khjhe;j njhiyNgrpf; fl;lzk; &gh 2 000 MFk;. ngWkjp Nru;f;fg;gl;l tup 
fhuzkhf mtSf;F &gh 2 200 nrYj;j Neupl;lJ. vdpd; mts; nrYj;jpAs;s ngWkjp 
Nru;f;fg;gl;l tupiaf; fhz;f. 

 

 

 

 

2. &gh 50 000 ,w;F tpw;fj; jPu;khdpj;j ryit ,ae;jpunkhd;wpw;F 10% ngWkjp Nru;f;fg;gl;l 
tup nrYj;j Ntz;Lnkdpd; nrYj;j Ntz;ba tupiaf; fhz;f. 

 

 

 

 

 

3. gpd;tUk; ml;ltizia epug;Gf. 
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nrYj;j Ntz;ba tup = Nritf; fl;lzk; + ngWkjp Nru;f;fg;gl;l tup 

kpd; Efu;Tf; fl;lzk; 
ngWkjp Nru;f;fg;gl;l 

tupr; rjtPjk; 
nrYj;j Ntz;ba tup kpd; gl;bay; 

&.2 500 8%        
 

   
= &.200 2 500 + 200 = &.2 700 

&.5 000 10%        
  

   
= ........... .......... + ...........=......... 

&.3 000 20% ................... .......... + ...........=......... 

&.6 000 25% .................... .......... + ...........=......... 

 



 

 

2 - 3 epkplq;fspy; jPu;itg; ngWf. 

1. Mz;L kjpg;gPl;Lg; ngWkjp &gh 15 000 MfTs;s tPnlhd;wpw;F cs;Suhl;rp kd;wk; 10% 
tupia mwtpLfpwJ. nrYj;j Ntz;ba Mz;L tupiaf; fhz;f. 

 

 

 

2. Mz;L kjpg;gPl;Lg; ngWkjp &gh 50 000 MfTs;s miwnahd;wpw;F Mz;Lf;F   &gh 2 
500 I tupahfr; nrYj;jpdhy; mwtplg;gLk; tupr;rjtPjj;ijf; fhz;f. 

 

 

 

 

3. Fspu;rhjdg; ngl;b xd;wpd; ,wf;Fkjp tpiy &gh 80 000 MFk;. mjw;F 8% jPu;it 
mwtplg;gLnkdpd; nrYj;j Ntz;ba jPu;itiaf; fhz;f. 

 

 

 

 

 

4. &gh 25 000 ngWkjpahd fkuh xd;wpd; ,wf;Fkjpapd;NghJ &gh 5 000 jPu;itahfr; 
nrYj;jg;gl;lnjdpd; mwtplg;gl;l jPu;itr; rjtPjj;ijf; fhz;f. 

 

 

 

 

5. Mz;L tUkhdkhf &gh 750 000 ngWk; xUtu; nrYj;j Ntz;ba tUkhd tupiaf; 
fhz;f.(2013 k; tUlj;jpw;F mikthf) 

 

 

 

6. khjhe;j kpd;gl;baypd; 15% ngWkjp Nru;f;fg;gl;l tup mwtplg;gLnkdpd; &gh 6 000 
khjhe;j kpd;gl;baYf;fhd ngWkjp Nru;f;fg;gl;l tupiaf; fhz;f. 
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7. nghUnshd;wpd; ,wf;Fkjpapd; NghJ mjd; ngWkjpapd; 10% jPu;it nrYj;j Ntz;Lk;. 
,wf;Fkjpg; ngWkjp &gh 80 000 vdpd; jPu;it nrYj;jpa gpd; nghUspd; ngWkjpiaf; 
fhz;f. 

 

 

 

 

8. cztfk; xd;wpy; cl;nfhz;l cztpw;fhd fl;lzk; &gh 8 000 MFk;. mjw;F 12% 
ngWkjp Nru;f;fg;gl;l tup mwtplg;gLnkdpd; nrYj;j Ntz;ba nkhj;jj; njhifiaf; 
fhz;f. 

 

 

 

 

 

 

12 - 14 epkplq;fspy; jPu;f;f. 
 
1. Etd; Mz;L ngWkjpahf &gh 2 000 000 kjpg;gplg;gl;l fhzpnahd;wpy; thfd tpw;gid 

epiyankhd;iw elj;Jfpd;whd;. mtd; ,wf;Fkjpg; ngWkjp &gh 2 500 000 MfTs;s 
thfdnkhd;iw mjd; ,wf;Fkjpg; ngWkjpapd; 40% I jPu;itf; fl;lzkhfr; nrYj;jp 
,wf;Fkjp nra;jhd;. mjw;F xU khjj;jpd; gpd; jPu;it mt;thfdj;jpd; ,wf;Fkjpg; 
ngWkjpapd; 50% vd muR jPu;khdpj;jJ.  
 
I. Etd; thfd ,wf;Fjpapd; NghJ nrYj;jpa jPu;itiaf; fhz;f. 

 
 
 
 
 
 

II. jPu;itiar; nrYj;jpa gpd; mjd; ngWkjpiaf; fhz;f. 
 
 
 
 
 
 
 

III. mjpfupf;fg;gl;l jPu;itr; rjtPjj;jpw;Nfw;g thfdj;ij tpw;f KbAnkdpd; thfd 
tpw;gidahy; mtdilAk; Nkyjpf tUkhdj;ijf; fhz;f. 
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ghlk; - 06 

juk;  - 10 

jtiz   -  II  

ghl cs;slf;fk; - vspa tl;b, tl;b tPjk;(tUl/khj)>  tl;b fzpj;jy; (06)  

 

fw;ww;NgWfs; -  

 Muk;g Kjy;> fhyk;> tl;btPjk; vd;gtw;iw fUj;jpw; nfhz;L fzpf;fg;gLk; tl;b vspa 
tl;b vd mwpe;J nfhs;thu;. 

 Fwpj;j KjYf;F xNu tl;b tPjj;jpy; rk fhy ,ilntspfSf;fhd vspatl;b rkdhFk; 
vd mwpthu;. 

 Fwpj;j KjYf;F jug;gl;l tl;b tPjj;jpd; gb Fwpj;j fhyj;jpw;fhd tl;biaf; fzpg;ghu;. 
 Njitahd juTfs; jug;gl;Ls;s NghJ tl;b my;yJ tl;b tPjk; my;yJ fhyk; my;yJ 

Kjy; vd;gtw;iwf; fhz;gjw;fhd gpurpdq;fisj; jPu;g;ghu;.           (tl;br; rjtPjk; 
KOntz;zhdJk; tpil vz;ngWkhdk; nfhz;litAkhd gpurpdq;fs; 
vjpu;ghu;f;fg;gLfpd;wd) 
 
 

Nkw;$wpa fw;ww;NgWfis mile;J nfhs;tjw;fhf fw;wy; fw;gpj;jy; nraw;ghLfspd; NghJ 
ftdQ; nrYj;j Ntz;bait.  

 ,U KOntz;fspd; $l;ly;> fopj;jy;> ngUf;fy;> tFj;jy;. 

 gpd;dnkhd;iw rjtPjkhfTk; rjtPjnkhd;iw gpd;dkhfTk; fhl;ly;.  

 fzpankhd;iw ,d;ndhU fzpaj;jpd; rjtPjkhff; fhl;ly;. 

  fzpankhd;wpd; rjtPjj;ijf; fzpj;jy;.  

 rjtPjg; ngWkjp jug;gLk; NghJ KOf; fzpaj;ijf; fhzy;.  

 

 

 

tl;b 

Fwpj;j epWtdnkhd;wplkpUe;J my;yJ xU eguplkpUe;J ngwg;gl;l fld;njhifnahd;wpw;F 
Fwpj;j fhyj;jpd; gpd; nrYj;j NeupLk; Nkyjpf njhif tl;b vdg;gLk;. 

tq;fp my;yJ epjp epWtdnkhd;wplkpUe;J ngwg;gl;l njhiff;F Fwpj;j fhyj;jpd; gpd; 
nrYj;j Ntz;ba Nkyjpf njhifAk; tl;b MFk;. 

 

cjhuzk; - 

xUtuplkpUe;J fldhfg; ngwg;gl;l &gh 12 000 fld;njhiff;F xU tUlj;jpy; fldpypUe;J 
kPs &gh 15 000 nrYj;j Neupl;lhy; nrYj;jpa tl;biaf; fhz;f. 

        tl;b =   &gh 15 000 - 12 000 

             =   &gh 3 000  
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gapw;rp - 1 

gpd;tUtdtw;wpy; rupahd tpilapd; fPo; NfhbLf. 

1. epky; tq;fpnahd;wpy; &gh 50 000 I itg;Gr; nra;jhd;. 3 tUlq;fspd; gpd;du; mtdJ 
fzf;fpy; &gh 62 000 ,Ue;jJ. vdpd; 3 tUlq;fspd; gpd; epky; ngWk; nkhj;jj; njhif 
 

(i)   & 10 000 MFk;.    (ii)   & 8 000 MFk;.    (iii)   & 62 000 MFk;.   (iv)& 12 000 MFk;. 
 
2. tpkyh tq;fpnahd;wpypUe;J &gh 25 000 If; fldhfg; ngw;W rpy tUlq;fspd; gpd; &gh 

39 000 Ir; nrYj;jp fldpypUe;J kPz;lhy; tpkyh nrYj;jpa tl;b 
 

(i) & 14 000   (ii)  & 15 000     (iii)    & 20 000         (iv)      & 21 000 
 

 

vspa tl;b 

Fwpj;j fhyj;jpw;F tl;b fzpf;Fk; NghJ Muk;g Kjy; kl;Lk; fUj;jpw; nfhs;sg;gl;L tl;b 

fzpf;fg;gly; vspa tl;b vdg;gLk;. 

 

gapw;rp - 2 
 
,ilntsp epug;Gf. 
 
1. xUtu; ngw;Wf; nfhz;l fld;njhiff;F xU tUlj;jpy; nrYj;Jk; vspatl;b &gh 500 

MFk;.  
xU tUlj;jpw;fhd tl;b = 500  x  1 = 500  

2 tUlq;fSf;fhd tl;b = 500  x  2 = ........ 

3 tUlq;fSf;fhd tl;b = 500  x  ….. = …….. 

5 tUlq;fSf;fhd tl;b = …………  = …….. 

10 tUlq;fSf;fhd tl;b = …………  = …….. 

 
 

2. Fwpj;j egnuhUtu; ngw;Wf; nfhz;l fld;njhiff;F 5 tUlq;fSf;fhd nkhj;j 
vspatl;b &gh 2 000 MFk;. 

5 tUlq;fSf;fhd vspa tl;b = ............. 

xU tUlj;jpw;fhd vspatl;b  = ............. 

                      

                       = &........... . 

 

 
3. m[pj; ngw;Wf; nfhz;l xU fld;njhiff;F xU tUlj;jpw;F &gh 750 nrYj;Jfpd;whd;. 7 

tUlq;fspy; mtd;  fldpypUe;J kPs cj;Njrpf;fpd;whd;. vdpd; mtd; nrYj;Jk; nkhj;j 
tl;b ahJ? 
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nkhj;j tl;b = &gh   .......... 

  = &gh............. . 

 



 

 

4. gpd;tUk; ml;ltizia epug;Gf. 

 

 

 

 

 

 

 

 

jug;gl;Ls;s  fhyj;jpw;Fk; tl;b tPjj;jpw;Fk; Vw;g Kjnyhd;wpw;F tl;biaf; fzpj;jy;.  

 

cjhuzk; -  

mky; &gh 20 000 I 12% tUlhe;j vspatl;bf;F fldhfg; ngw;W 3 tUlq;fspy; flid 
KOikahf milf;fpd;whd;. mtd; nrYj;Jk; nkhj;j tl;biaf; fhz;f. 

    xU tUlj;jpy; nrYj;Jk; tl;b          
  

   
 

                                &     . 

    3 tUlq;fspy; nrYj;Jk; tl;b    &        

       &     . 

gapw;rp - 3 

1. 10% Mz;L vspatl;bapy; &gh 18 000 If; fldhfg; ngw;w xUtu; xU tUlj;jpy; 
nrYj;j Ntz;ba tl;bahtJ 
 

 (i) &gh 1500 (ii) &gh 1800 (iii) &gh 3600 (iv) &gh 5400 

2. &gh 70 000 fld;njhifia 15% Mz;L vspatl;bapy; fldhfg; ngw;wtu; xU       

  khjj;jpy; nrYj;j Ntz;ba tl;b 

 

   (i)  &gh 675 (ii) &gh 750 (iii) &gh 875 (iv) &gh 900 

 

3. 3 tUlq;fSf;F 20% tUl vspatl;bapy; &gh 50 000 If; fldhfg; ngw;w xUtu; 

nrYj;j Ntz;ba nkhj;j vspatl;b 

 

   (i) &gh 10 000 (ii) &gh 20 000 (iii) &gh 30 000 (iv) &gh 60 000 
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Mz;L tl;btPjk; 6 khjq;fSf;fhd 
tl;btPjk; 

%d;W 
khjq;fSf;fhd 
tl;b tPjk; 

khj tl;b tPjk; 

24% ........................... ........................... ........................... 

........................... ........................... ........................... 3% 

........................... 6% ........................... ...........................  

........................... ........................... 12% ........................... 

........................... ........................... ........................... 5% 

 



 

 

4. &gh 300 000 I 12% Mz;L vspatl;bf;F fldhfg; ngw;wtu; 5 tUlj;jpy; nrYj;j 
Ntz;ba nkhj;jj; njhif ahJ?  

 

 (i) &gh 180 000 (ii) &gh 360 000 (iii) &gh 700 000 (iv) &gh 900 000 

 

5. gpd;tUk;$w;Wf;fSs; jug;gl;l fhyj;jpw;fhd vspa tl;biaf; fhz;f. 

    (i) &gh 78 000 ,w;F 8% tUl vspatl;bg;gb xU tUlj;jpw;fhd vspatl;b 

   (ii) &gh 85 000 ,w;F 10% tUl vspatl;bg;gb 3 tUlq;fSf;fhd vspatl;b  

 (iii) &gh 50 000 ,w;F 25% tUl vspatl;bg;gb 7 tUlq;fSf;fhd vspatl;b  

(iv) &gh 250 000 ,w;F 8% tUl vspatl;bg;gb 5 tUlq;fSf;fhd vspatl;b     

 

Fwpj;j KjYf;F jug;gl;l fhyj;jpw;Fk; tl;br; rjtPjj;jpw;Fk; Vw;g fldpypUe;J tpLgl nrYj;j 
Ntz;ba nkhj;jj; njhifiaf; fhzy;.  
 
cjhuzk; : 
 

fkyh &gh 200 000 I 15% Mz;L vspa tl;bg;gb fldhfg; ngw;W 4 tUlq;fspy; KjiyAk; 
tl;biaAk; nrYj;jp fldpypUe;J kPz;lhs;. fldpypUe;J mts; kPs;tjw;Fr; nrYj;jpa KOj; 
njhifiaf; fhz;f.  

 

fkyh ngw;w fld; njhif = 200 000 

Mz;L tl;b rjtPjk;      = 15% 

fld; gl;bUe;j fhyk;  = 4 tUlq;fs; 

mts; xU tUlj;jpy; nrYj;j Ntz;ba vspatl;b  =           
  

   
 

                                          = &gh 30 000 

4 tUlq;fSf;fhd vspatl;b                  = 30 000 x 4 

                                          = &gh 120 000 

fldpypUe;J kPs nrYj;jpa KOj;njhif              =     120 000+200 000 

                                           = &gh 320 000 

gapw;rp - 4 
 
1. fPNo jug;gl;Ls;s $w;Wf;fs; rupnadpd; () FwpaPl;ilAk; gpionadpd; () FwpaPl;ilAk; 

,ilntspapy; ,Lf. 

 mky; &gh 35 000 I 8% Mz;L vspatl;bg;gb fldhfg; ngw;W 5 tUlq;fspy; 
fldpypUe;J kPs;tjw;F vjpu;ghu;f;fpwhd;. 

I. xU tUlj;jpw;fhd tl;b &gh 2 800 MFk;.                                    (...............)  

II. 5 tUlq;fSf;fhd tl;b &gh 13 000 MFk;.                           (...............) 

III. fldpypUe;J kPsr; nrYj;j Ntz;ba nkhj;jj; njhif &gh 49 000 MFk;.  (...............)  
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2. ,ilntsp epug;Gf. 
xUtu; &gh 100 000 I Mz;Lf;F 18% vspatl;bapy; fldhfg; ngw;W 3 tUlq;fspy; 
KjiyAk; tl;biaAk; nrYj;jp fldpypUe;J tpLgl;lhu;. 
 

mtu; xU tUlj;jpy; nrYj;Jk; tl;b     =           
……..

   
 

                    = &.............. . 

mtu; 3 tUlq;fspy; nrYj;Jk; tl;b  = & .............. . x 3 

                    = &.............. . 

 

fldpypUe;J tpLgl nrYj;j Ntz;ba KOj;njhif =& 100 000 + ........... 

                                  =&......................  . 

 

3.   jug;gl;Ls;s fhyj;jpd; ,Wjpapy; fldpypUe;J kPsr; nrYj;j Ntz;ba nkhj;jj;       
   njhifiaf; fhz;f.  

          (i) &gh 28 000 I Mz;Lf;F 8% vspatl;bg;gb 2 tUlq;fSf;Ff; fldhfg; ngwy;.  

 

 

 

 (ii) &gh 60 000 I Mz;Lf;F 11% vspatl;bg;gb 5 tUlq;fSf;Ff; fldhfg; ngwy;. 

  

 

 

(iii) &gh 300 000 I Mz;Lf;F 4% vspatl;bg;gb 3 tUlq;fSf;Ff; fldhfg; ngwy;. 

 

 

 

(v) &gh 500 000 I Mz;Lf;F 12% vspatl;bg;gb 4 tUlq;fSf;Ff; fldhfg; ngwy;. 
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Njitahd juTfs; jug;gl;Ls;s NghJ tlb my;yJ tlbr;rjtPjk; my;yJ fhyk; my;yJ 
Kjiyf; fhzy;.  
 
cjhuzk; :  
 

Mz;Lf;F 5% vspatl;bg;gb &gh 12 000 I fldhfg; ngw;w xUtu; Fwpj;j fhyj;jpd; gpd; 

tl;bahf &gh 2 400 Ir; nrYj;j Neupl;lhy; flDf;fhd fhyj;ijf; fhz;f.  

xU tUlj;jpw;fhd tl;b  =          
 

   
  

               = &gh 600 

nkhj;j tl;b   = &gh  .2400  

fhyk; (tUlq;fspy;) = 
    

   
 

               = 4 tUlq;fs;. 

 

gapw;rp - 5 

1. gpd;tUk; ml;ltizia epug;Gf. 

 

 

 

 

 

 

 

 

 

2. ,ilntsp epug;Gf. 

Rrpyh &gh 450 000 I tUlj;jpw;F 8% vspatl;bg;gb Fwpj;j fhyj;jpw;F fldhfg; ngw;W 

&gh 558 000 Ir; nrYj;jp fldpypUe;J tpLgl;lhu;. 

 

         nrYj;jpAs;s nkhj;j tl;b             …………. 

                  =  &gh ..................  

        xU tUlj;jpw;fhd tl;b =           
……..

   
 

       =   &gh ................... 

  flDf;fhd fhyk;         = 
………

……….
 

       =  ......... tUlq;fs; 
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Kjy;(&) Mz;L tl;b 
tPjk; 

xU tUl tl;b 
nrYj;jpa 

KOj;njhif 
fhyk;(tU) 

15 000 8%  3 600  

25  000  10%  10 000  

48 000 12%  11 520  

50 000 20%  8 000  

80 000 18%  72 00  

 



 

 

3.     fPNo jug;gl;Ls;s $w;Wf;fs; rupnadpd; () FwpaPl;ilAk; gpionadpd; () FwpaPl;ilAk; 
,ilntspapy; ,Lf. 
 
xUtu; Mz;Lf;F 15% vspatl;bf;F &gh 50 000 I Fwpj;j fhyj;jpw;F fldhfg; ngw;W 
&gh 95 000 I nkhj;jkhfr; nrYj;jp fldpypUe;J kPz;lhu;. 

 

 (i) xU tUlj;jpy; nrYj;jpa tl;b &gh 8 000    (..........) 

(ii) nrYj;jpAs;s nkhj;j tl;b &gh 45 000    (..........) 

 (iii) fld; gl;bUe;j fhyk; 6 tUlq;fshFk;.    (..........) 

 (iv) ,f;fld;njhifiag; ngw;W 5 tUlq;fspy; &gh 95 000 Ir; nrYj;jp    

        fldpypUe;J tpLgl;lhy; tl;br; rjtPjk; 18% MFk;.  (..........) 

  

cjhuzk; : 

 

&gh 40 000 I vspa tl;bf;Ff; fldhfg; ngw;w xUtu; 3 tUlq;fspy; tl;bahf &gh 14 400 

Ir; nrYj;Jthnudpy; Mz;L tl;br; rjtPjj;ijf; fhz;f. 

xU tUlj;jpw;fhd tl;b  = 
     

 
 

     = &gh 4 800 

Mz;L tl;br; rjtPjk;  = 
    

     
        

     = 12% 

 

gapw;rp - 6 

1. fPOs;s ml;ltizia epug;Gf. 

 

 

 

 

 

 

 

 

48 

nkhj;jj; 
njhif 

nrYj;jpa 
nkhj;j 
tl;b 

fhyk; 
(tU) 

xU tUlj;jpw;fhd 
tl;b Mz;L tl;b tPjk; 

18 000 540 3 
   

 
  ……………. 

   

      
      ………… 

25 000 10 000 5   

30 000 6 600 2   

  45  000  25 200 4   

90 000 57 600 8   

 



 

 

2. ,ilntsp epug;Gf. 

epjpepWtdnkhd;wplkpUe;J fNd\d; &gh 60 000 I Mz;L vspa tl;btPjg;gb 5 

tUlq;fSf;F fldhfg; ngw;W &gh 95 000 I nrYj;jp flid KOikahf 

milf;fpd;whu;. mwtplg;gl;Ls;s tl;br; rjtPjj;ijf; fhz;f. 

 mtd; nrYj;jpAs;s nkhj;jtl;b    &gh 95 000 - 60 000  

       = &gh..................... 

 xU tUlj;jpy; nrYj;jpAs;s tl;b   
…………….

 
   

       = &gh .................. 

 mwtplg;gl;Ls;s tl;br; rjtPjk; = 
………..

      
       

       = ........% 

 

 

 
gapw;rp - 7 

1. 21% Mz;L vspa tl;bf;F ngwg;gl;l fld;njhiff;F 5 tUlq;fspy; tl;bahf &gh    

  52 500 nrYj;j Ntz;bapUe;jJ. ngwg;gl;l fld; njhifiaf; fhz;f. 

 

 

 

 

2. 8% Mz;L vspa tl;bf;fhd fld;njhiff;F 2 tUlq;fspy; tl;bahf &gh 4 800 

nrYj;j Ntz;Lnkdpy; ngwg;gl;l fld;njhifiaf; fhz;f. 

 

 

 

3. 3 tUlq;fSf;F Mz;nlhd;wpw;F 15% vspa tl;bg;gb ngwg;gl;l flDf;fhd nkhj;j tl;b 

&gh 540 vdpd; fld; njhifiaf; fhz;f. 

 

 

4. vspatl;b mbg;gilapy; Mz;Lf;F 10% tl;bf;F 4 tUlq;fSf;F ngw;Wf; nfhz;l 

flDf;fhd nkhj;j tl;b &gh 8 000 vdpd; fld; njhifiaf; fhz;f. 
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2 - 3 epkpl fhy vy;iyf;Fs; tpilaspf;f Kaw;rpf;f. 

 

rupahd tpiiliaj; njupT nra;J mjd; fPo; NfhbLf. 

1. &gh 5 000 fld;njhiff;F Mz;Lf;F 12% vspatl;bg;gb Mz;nlhd;wpw;F> 

khjnkhd;wpw;F nrYj;j Ntz;ba tl;bj; njhififs; KiwNa  

 

(i)  &gh 600> &gh 50         (ii)  &gh 60> &gh 500                  (iii)&gh 50> &gh 500           (iv)   

&gh 650> &gh 50 

 

2. &gh 10 000 flDf;F Mz;Lf;F 18% vspa tl;bg;gb 5 tUlq;fspy; nrYj;j Ntz;ba 

tl;b 

(i) &gh 1 800    (ii) &gh 8 500 (iii) &gh 9 000 (iv) &gh 10 000  

 

3. &gh 25 000 fld;njhiff;F 8% Mz;L vspa tl;bg;gb 3 tUlq;fspy; fldpypUe;J kPs 

nrYj;j Ntz;ba njhif 

(i) &gh 27 000 (ii) &gh 20 000 (iii) &gh 29 000 (iv) &gh 31 000  

4. Mz;Lf;F 15% vspatl;bf;F &gh 12 000 If; fldhfg; ngw;W Fwpj;j fhyj;jpd; gpd; 

tl;bahf &gh 7 200 nrYj;j Ntz;b Vw;gl;lhy; fld;gl;bUe;j fhyj;ijf; fhz;f. 

(i) 3 tUl (ii) 4 tUl (iii) 5 tUl (iv) 9 tUl 

 

5. Fwpj;j njhifnahd;iw Mz;Lf;F 10% vspa tl;bf;F fldhfg; ngw;W 2 tUlq;fspy; 

tl;bahf &gh 7 200 Ir; nrYj;jpdhy; ngw;Wf; nfhz;l fld;njhifiaf; fhz;f. 

 

 

 

6. Rdpy; &gh 35 000 I khjj;jpw;F 8% vspatl;bf;F ngw;Wf; nfhz;lhy; xU khj;jpy; 

nrYj;j Ntz;ba tl;biaf; fhz;f. 

 

 

7. &gh 100 000 I 12% vspatl;bf;F fldhfg; ngw;Wf; nfhz;l xUtu; 5 tUlq;fspy; 

nrYj;j Ntz;ba tl;biaf; fhz;f. 
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8. &gh 50 000 I 14% vspatl;bf;F 3 tUlq;fSf;F fldhfg; ngw;w ftP\h fldpypUe;J 

kPs nrYj;j Ntz;ba nkhj;jj; njhifiaf; fhz;f. 

 

 

 

 

 

9. &gh 20 000 I 5% tUlhe;j vspa tl;bf;F fldhfg; ngWgtu; fld;njhifapd; 

miuthrpia tl;bahfr; nrYj;Jtjw;fhd fhyj;ijf; fhz;f. 

 

 

 

10. &gh 50 000 I 10% vspatl;bf;F fldhfg; ngw;wtu; fld;njhiff;Fr; rkdhd tl;biar; 

nrYj;j NeupLk; fhyj;ijf; fhz;f. 

 

 

 

11. Fwpj;j xU njhifia 18% tUlhe;j vspatl;bf;F fldhfg; ngw;W 4 tUlq;fspd; gpd; 

&gh 34 400 I nkhj;jkhfr; nrYj;jpdhy; fldhfg; ngw;w njhifiaf; fhz;f. 

 

 

 

12. epjp epWtdnkhd;wpypUe;J &gh 15 000 fld; ngw;w xUtu; tUlj;jpw;F &gh 900 I 

vspatl;bahfr; nrYj;Jthnudpy; mNj tl;btPjj;jpy; &gh 50 000 fld; ngWgtu; 

tUlnkhd;wpy; nrYj;j Ntz;ba tl;biaf; fhz;f. 
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ghlk; - 7 

juk;     :  10    

jtiz :   I 

ghl cs;slf;fk;  :  Rl;bfSf;Fk; klf;iffSf;Fk; ,ilapyhd njhlu;G (07) 

 

fw;ww;NgWfs; : 

 vz;nzhd;W Rl;b tbtpy; jug;gl;Ls;s NghJ mt;ntz;iz klf;ifapd; mbapy; 
tpgupg;ghu;. 
 

 klf;if tbtj;ij Rl;b tbtpYk; Rl;b tbtj;ij klf;if tbtpYk; vOJthu;. 

 

 

Nkw;$wpa fw;ww;NgWfis mile;J nfhs;tjw;fhf fw;wy; fw;gpj;jy; nraw;ghLfspd; NghJ 
ftdQ; nrYj;j Ntz;bait.  

 

 xNu vz;iz gy Kiw ngUf;Ftij RUf;fp Rl;b tbtpy; vOjy;.  

 Rl;b tbtpy; vOkg;gl;l vz;iz tpupj;njOjy;.  

 Neu;r;Rl;bia kiwr; Rl;bahf khw;Wjy;. 

 kiwr; Rl;bia Neu;r; Rl;bahf khw;Wjy;. 

 xNu mbiaf; nfhz;l Rl;bf; Nfhitfisr; RUf;Fjy;. 

 Neu; mbfisf; nfhz;ltw;iw kl;LNk klf;if tbtpy; vOjyhk; vd;gJ.  

 log10  vd;gij lg vd vOjyhk; vd;gJ. 

 

 

cjhuzk; : 

 

34 = 81 vd;gij klf;if tbtpy; vOJk; NghJ  log3 81 = 4 MFk;.  mjid mb 3 ,Ys;s 81 
,d; klf;if 4 vd; thrpf;fyhk;. 

mt;thNw log2 16 = 4 vd;gJ mb ,uz;by; 16 ,d; klf;if 4 vd thrpf;fg;gLk;. 

mt;thNw log3 9 = 2 vd;gij Rl;b tbtpy; vOJk; NghJ  9 = 32 vd vOjyhk;. 

NkYk;  lg 100 = 2 vd;gij Rl;b tbtpy; vOJk; NghJ 100 = 102 vd vOjyhk;. 

mt;thNw  lg 100 = 2 vd;gJ mb 10 ,Ys;s  100 ,d; klf;if  2 MFk; vd;gjhFk;. 
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gapw;rp - 1 

1. gpd;tUk; klf;if tbtq;fis thrpf;Fk; Kiwia vOJf. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

2. gpd;tUk; klf;if tbtq;fis thrpf;Fk; Kiwia vOJf.  
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njh. 
,y $w;W thrpf;Fk; Kiw 

i Log2 8 = 3  

ii Log4 64 = 3  

iii Log5 25 = 2  

iv Log2 32 = 5  

v Log6 216 = 3  

vi Log5 5 = 1  

vii lg 10 = 1  

viii lg 1000 = 3  

 

njh. 
,y 

$w;W thrpf;Fk; Kiw  

i log2  64 = 6  

ii log4 64 = 3  

iii log8 64 = 2  

iv log64 64 = 1  

v log3 81 = 4  

vi log9 81 = 2  

vii log81 81 = 1  

viii loga b = c  

 



 

 

3. gpd;tUk; Rl;b tbtq;fis klf;if tbtpy; vOjp mtw;iw thrpf;Fk; Kiwfis 
vOJf. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

4. gpd;tUk; klf;if tbtq;fis Rl;b tbtpy vOJf. 
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njh. 
,y klf;if tbtk; Rl;b tbtk; 

i log2 64 = 6  

ii log7 49 = 2  

iii log10 1000 = 3  

iv log2 256 = 8  

v log4 16 = 2  

vi log4 64 = 3  

vii log10 100 = 2  

vii loga a =1  

ix log5 
 

   
 = -3  

x log2  
 

 
 = -3  

xi log2  
 

  
 = -6  

xii log4  
 

  
 = -2  

 

njh.,y Rl;b tbtk; klf;if tbtk; thrpf;Fk; Kiw 

i 33 = 27   

ii 63 = 216   

iii 27 = 128   

iv 35 = 243   

v 43 = 64   

vi 54 = 625   

vii 252 = 625   

viii 29 = 512   

ix 2-2 = 
 

 
   

x 5-3 = 
 

   
   

 



 

 

5. gpd;tUk; ml;ltizapd; ,ilntspfis epug;Gf. 
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njh. 
,y Rl;b tbtk; klf;if 

tbtk; thrpf;Fk; Kiw 

i 
....................... ....................... 

mb 2 ,d; 512 ,d; klf;if 9 MFk;. 

ii 
....................... 

log3 243 = 5 
..................................................................... 

iii 73 = 343 
....................... ..................................................................... 

iv 
....................... ....................... 

8 ,d; mbapy; 512 ,d; klf;if 3 
MFk;. 

v 5-2 = 
 

  
 

....................... ..................................................................... 
 


